
For sales inquiry,
Usman Shiekh
Phone: +1 (281) 982-1187
Email: ushiekh@Daniel.com

Decades Proven. Field Chosen.™

Copyright © 2023 Daniel Measurement and Control. All rights reserved.
PAGE 1 OF 55

UPDATED 2/28/2023

SLOW-MOVING INVENTORY

Part Number Description Qty

DPSX02-000031 2" Simplex Single Chamber Orifice Fitting Low Temp SCH 80 LCC 
600 ANSI 5

DPSX02-000030 2" Simplex Single Chamber Orifice Fitting Low Temp SCH 80 LCC 
600 ANSI 10

Part Number Description Qty
DPSR06-000113 6" Senior Dual-Chamber Orifice Fitting, SCH 80, WCB, 600 ANSI 1
DPSR02-000062 2" Senior Dual-Chamber Orifice Fitting, SCH 40, WCB 600 ANSI 20

Differential Pressure
METERS

SENIOR DUAL-CHAMBER ORIFICE FITTING

SINGLE CHAMBER ORIFICE FITTING



For sales inquiry,
Usman Shiekh
Phone: +1 (281) 982-1187
Email: ushiekh@Daniel.com

Decades Proven. Field Chosen.™

Copyright © 2023 Daniel Measurement and Control. All rights reserved.
PAGE 2 OF 55

UPDATED 2/28/2023

Part Number Description Qty Unit 
Price

DPPLATE500-41044407 2" Bore and Bevel, 1/8” Thick, API, 0.434" Bore 4 $21.88 
DPPLATE500-32385392 6" Bore and Bevel, 1/8” Thick, API, 2.19" Bore 1 $58.77 
DPPLATE500-32385390 6" Bore and Bevel, 1/8” Thick, API, 1.267" Bore 1 $58.77 
DPPLATE500-43481467 8" Bore and Bevel, 1/8" Thick, API, 3.0371" Bore 2 $36.25 
DPPLATE500-35773398 8" Bore and Bevel, 1/4” Thick, API, 4.75" Bore 1 $506.60 
DPPLATE500-40962295 8" Bore and Bevel, 1/4” Thick, API, 3.0" Bore 2 $348.46 
DPPLATE500-32218686 10" Bore and Bevel, 1/4” Thick, API, 5.737" Bore 1 $426.28 
DPPLATE500-32218684 10" Bore and Bevel, 1/4” Thick, API, 3.815" Bore 1 $426.28 
DPPLATE500-40962297 12" Bore and Bevel, 1/4” Thick, API, 3.0" Bore 2 $667.17 
DPPLATE500-32218688 16" Bore and Bevel, 3/8” Thick, API, 9.589" Bore 1 $927.18 

DPPLATE500-43493765 4" Bore No Bevel, 1/8" Thick, API, 0.375" Bore 1 $36.25 
DPPLATE500-43493763 4" Bore No Bevel, 1/8" Thick, API, 0.75" Bore 3 $36.25 
DPPLATE500-43493773 4" Bore No Bevel, 1/8" Thick, API, 0.8750" Bore 1 $36.25 
DPPLATE500-43493761 4" Bore No Bevel, 1/8" Thick, API, 1.0" Bore 3 $36.25 
DPPLATE500-43493767 4" Bore No Bevel, 1/8" Thick, API, 1.25" Bore 5 $36.25 
DPPLATE500-43493769 4" Bore No Bevel, 1/8" Thick, API, 1.5" Bore 3 $36.25 
DPPLATE500-43493771 4" Bore No Bevel, 1/8" Thick, API, 1.75" Bore 1 $36.25 

DPPLATE500-43493243 4" Blank, 1/8" Thick, API 1 $51.70 

Differential Pressure
PLATES

500 UNIVERSAL 
PLATES

BORE AND BEVEL
Please note: Orifice plates may be stamped with a tag number. 

BORE NO BEVEL

BLANK



For sales inquiry,
Usman Shiekh
Phone: +1 (281) 982-1187
Email: ushiekh@Daniel.com

Decades Proven. Field Chosen.™

Copyright © 2023 Daniel Measurement and Control. All rights reserved.
PAGE 3 OF 55

UPDATED 2/28/2023

Part Number Description Qty Unit Price

DPPLATE510-42615914 16" Bore and Bevel, 3/8” Thick, HNBR, ISO, 7.6" 
Bore 1 $4,173.84 

Part Number Description Qty Unit Price

DAN-30001621 3/4" Bore No Bevel, 1/8” Thick, 150#, Serrated, 
0.0313" Bore 1 $197.01 

DPPLATE520-39473004 2" Bore and Bevel, 1/8” Thick, 150#, 1.125" Bore 1 $56.22 
DPPLATE520-39473002 2" Bore and Bevel, 1/8” Thick, 150#, 1.125" Bore 1 $56.22 
DPPLATE520-39473000 2" Bore and Bevel, 1/8” Thick, 150#, 1.25" Bore 1 $56.22 

DPPLATE520-40624532 3" Bore and Bevel, 1/8” Thick, 150#, 1.25" Bore 1 $67.98 
DPPLATE520-39497922 3" Bore and Bevel, 1/8” Thick, 150#, 1.5" Bore 1 $67.98 
DPPLATE520-39473006 3" Bore and Bevel, 1/8” Thick, 150#, 1.5" Bore 1 $67.98 

DPPLATE520-43481737 3" Blank, 1/8" Thick, 600# 10 $79.11 

Differential Pressure
PLATES

Part Number Description Qty Unit Price

DAN-20086340 3" Bore No Bevel, 3/4” Thick, 2500#, 0.6149" 
Bore 1 $1,074.48 

560 RTJ PADDLE

510 BONDED DVS

520 PADDLE PLATES Please note: Orifice plates may be stamped with a tag number. 

Please note: Orifice plates may be stamped with a tag number. 

Please note: Orifice plates may be stamped with a tag number. 



For sales inquiry,
Usman Shiekh
Phone: +1 (281) 982-1187
Email: ushiekh@Daniel.com

Decades Proven. Field Chosen.™

Copyright © 2023 Daniel Measurement and Control. All rights reserved.
PAGE 4 OF 55

UPDATED 2/28/2023

Part Number Description Qty Unit Price
1-213-02-024 8", SCH 80, 1/8” Thick 14  $13.15 
1-213-02-028 10", SCH 40, 1/8” Thick 12  $13.35 
1-213-02-048 10", SCH 40, 1/4” Thick 41  $15.00 
1-213-02-031 10", SCH 80, 1/4” Thick 56  $15.00 

1-213-02-566 6”, 1/4” Thick 181  $7.67

Differential Pressure
SEAL RINGS

Part Number Description Qty Unit Price
1-213-02-113 4", SCH 80, 1/8” Thick 6  $12.53 
1-213-02-124 8", SCH 40, 1/4” Thick 9  $23.35 
1-213-02-127 10”, SCH 30, 1/4” Thick 8  $26.62 
1-213-90-133 12", SCH 40, 1/4” Thick 50  $39.71 
1-213-02-149 12", SCH 30, 1/8” Thick 4  $48.75 

Part Number Description Qty Unit Price
1-213-02-525 2”, 1/8” Thick 2  $26.70 
1-213-02-535 3”, 1/8” Thick 31  $27.89 
1-213-02-545 4”, 1/8” Thick 1  $30.07 

VITON
New Style 14.3

HNBR
Old Style

NITRILE
Old Style

NEW STYLE



For sales inquiry,
Usman Shiekh
Phone: +1 (281) 982-1187
Email: ushiekh@Daniel.com

Decades Proven. Field Chosen.™

Copyright © 2023 Daniel Measurement and Control. All rights reserved.
PAGE 5 OF 55

UPDATED 2/28/2023

Differential Pressure
SEAL RINGS

Part Number Description Qty Unit Price
1-213-02-727 8”, 1/8” Thick 4  $229.57 
1-213-02-755 20”, 3/8” Thick 8  $759.58 

Part Number Description Qty Unit Price
1-314-11-432 12”, SCH 140, 1/4” Thick 4  $1,247.80
1-314-09-429 12”, SCH 140, 1/4” Thick 6  $857.05 

FAST DELIVERY
1-2 Weeks

PREFERRED 
PRICING

100% GENUINE
Daniel Products & Parts

CONTACT US
Mondays to Friday, 
8 am - 5 pm CST

$$

TEFLON
New Style 14.3

SNAP SEAL RING
Old Style

Part Number Description Qty Unit Price
1-213-02-228 6”, SCH 80, 1/8” Thick 7  $117.84 
1-213-02-235 8” SCH 30 1/8” THK 1 172.95
1-213-02-255 10”, SCH 40, 1/4” Thick 2  $134.09
1-213-02-263 12”, SCH 80, 14” Thick 6  $189.68 

TEFLON
Old Style



For sales inquiry,
Usman Shiekh
Phone: +1 (281) 982-1187
Email: ushiekh@Daniel.com

Decades Proven. Field Chosen.™

Copyright © 2023 Daniel Measurement and Control. All rights reserved.
PAGE 6 OF 55

UPDATED 2/28/2023

Differential Pressure
UNIVERSAL SPARE PARTS

Part Number Description Qty Unit 
Price

1-502-01-969 B-Plug and S-Box, (For sizes 2"-12"), ANSI 2500 64 $4.42 

1-502-01-961 B-Plug and S-Box, (For sizes 2"-24"), Contact us for more info 6 $17.28 

1-509-06-700 Ball Valve 1/2", Contact us for more info 15 $112.20 

1-504-06-352 Bearing Plug Sleeve, (For sizes 2"-14"), Contact us for more info 28 $1.77 

1-504-06-312 Bearing Plug Sleeve, (For sizes 2"-14"), Contact us for more info 916 $1.11 

1-504-06-330 Bearing Plug Sleeve, 1-1/2", (For sizes 2"-14"), Contact us for more info 36 $1.44 

1-504-06-322 Bearing Plug Sleeve, 1-1/4", (For sizes 2"-14"), Contact us for more info 57 $1.19 

1-504-06-318 Bearing Plug Sleeve, 1-1/8", (For sizes 2"-14"), Contact us for more info 38 $1.23 

1-504-06-326 Bearing Plug Sleeve, 1-3/8", (For sizes 2"-14"), Contact us for more info 29 $1.35 

1-504-06-324 Bearing Plug Sleeve, 1-5/16", (For sizes 2"-14"), Contact us for more info 55 $1.74 

1-504-06-334 Bearing Plug Sleeve, 1-5/8", (For sizes 2"-14"), Contact us for more info 40 $1.72 

1-504-06-328 Bearing Plug Sleeve, 1-7/16", (For sizes 2"-14"), Contact us for more info 75 $1.40 

1-504-06-308 Bearing Plug Sleeve, 13/16", (For sizes 2"-14"), Contact us for more info 1028 $1.08 

1-504-06-348 Bearing Plug Sleeve, 2-1/16", (For sizes 2"-14"), Contact us for more info 56 $1.78 

1-504-06-306 Bearing Plug Sleeve, 3/4", (For sizes 2"-14"), Contact us for more info 10 $99.00 

1-504-06-314 Bearing Plug Sleeve, ANSI 150, API 14.3 & Old AGA, (For sizes 2"-14") 618 $1.20 

1-504-06-316 Bearing Plug Sleeve,1-1/16", (For sizes 2"-14"), Contact us for more info 231 $1.23 

DAN-20080032 Customized Box for Valve Carrier and Strip, Contact us for more info 25 $14.11 

1-3-9008-002 Daniel Orifice Fitting PED Specific User Manual, Contact us for more info 19 $2.64 

1-509-03-980 Dowel Pinn Bevel One, 0.488" x 1-3/8", Contact us for more info 31 $66.00 

1-504-01-093 Equalizer Package Nut Duplex, Contact us for more info 4 $222.34 

1-504-01-015 Equalizer Valve Ball, 3/8", Contact us for more info 2 $0.49 

1-504-01-017 Equalizer Valve Washer, 1/4" x 5/8", Contact us for more info 14 $27.34 

1-504-01-016 Equalizer Valve, (For sizes 2"-48"), Contact us for more info 1 $54.73 

SENIOR ORIFICE FITTING



For sales inquiry,
Usman Shiekh
Phone: +1 (281) 982-1187
Email: ushiekh@Daniel.com

Decades Proven. Field Chosen.™

Copyright © 2023 Daniel Measurement and Control. All rights reserved.
PAGE 7 OF 55

UPDATED 2/28/2023

Differential Pressure
UNIVERSAL SPARE PARTS

Part Number Description Qty Unit 
Price

1-504-09-015 Gear Shaft, Blank, 5/8" x 18-1/8", Contact us for more info 1 $79.06 

1-504-09-025 Gear Shaft, Blank, 5/8" x 32-5/8", Contact us for more info 5 $725.63 

DAN-20056875 Gear Shaft, Blank, 7/8" x 31-3/4", Contact us for more info 2 $857.41 

1-504-01-847 Gear Shaft, Blank, 7/8" x 31-3/4", Contact us for more info 1 $15.63 

1-504-01-861 Gear Shaft, Blank, 7/8" x 35", Contact us for more info 3 $55.44 

1-504-01-851 Gear Shaft, Blank, 7/8" x 35", Contact us for more info 8 $187.15 

1-504-01-069 Grease Gun Body, Contact us for more info 121 $194.04 

1-504-01-059 Grease Gun Stem, Contact us for more info 197 $2.11 

1-301-19-028 Indicator Plate LH (Standard), ANSI 150-2500, API 14.3 & Old AGA, (For sizes 
2"-24") 6208 $4.95 

1-301-19-029 Indicator Plate RH (Rev shaft), ANSI 150-2500, API 14.3 & Old AGA, (For sizes 
2"-24") 6109 $4.76 

1-301-19-317 Investment Cast Brake, (For sizes 18"-24"), Contact us for more info 1 $537.00 

1-503-01-031 Long Teflon Pack, 5/8" x 1-1/8" x 1/4", Contact us for more info 1242 $2.48 

1-503-01-033 Long Teflon Pack, 5/8" x 1-1/8" x 3/8", Contact us for more info 21 $33.00 

1-504-01-651 Metal Seal Clips, 316SS, API 14.3 (For sizes 2"-24"), Contact us for more info 20 $2.18 

1-508-01-011 Nameplate ID for Senior Orifice Fittings and Simplex, Contact us for more info 3663 $1.65 

1-504-01-778 No. 1 Pinion, 1/2" x 1.417" x 0.6255", Contact us for more info 6 $396.00 

1-504-01-786 No. 2 Pinion, 1" x 1.417" x 0.625" Bore, Contact us for more info 54 $43.45 

1-504-01-785 No. 2 Pinion, 1" x 1.417" x 0.625" Bore, Contact us for more info 55 $27.30 

1-504-01-296 Packing Nut, Contact us for more info 160 $11.71 

1-503-01-023 Packing Ring, ANSI 150-600, API 14.3 & Old AGA, (For sizes 16"-24") 6102 $0.73 

SENIOR ORIFICE FITTING



For sales inquiry,
Usman Shiekh
Phone: +1 (281) 982-1187
Email: ushiekh@Daniel.com

Decades Proven. Field Chosen.™

Copyright © 2023 Daniel Measurement and Control. All rights reserved.
PAGE 8 OF 55

UPDATED 2/28/2023

Differential Pressure
UNIVERSAL SPARE PARTS

Part Number Description Qty Unit 
Price

1-504-01-986 PC Stop Pin (For sizes 2"-8"), Contact us for more info 9 $194.04 

1-504-01-983 PC Stop Pin (For sizes 2"-8"), Contact us for more info 49 $60.15 

1-504-01-981 PC Stop Pin, (For sizes 2"-8"), Contact us for more info 27 $217.80 

1-301-19-282 PL Carrier Brake Band, 0.63" x 1-1/8", (For sizes 18"-24"), Contact us for 
more info 3 $205.96 

1-301-19-289 PL Carrier Brake Sleeve, ANSI 150-1500, (For sizes 18"-24"), Contact us for 
more info 2 $105.60 

1-301-19-182 Plate Carrier Guide Bracket LH 18"-24" 3 $1,965.48 

1-301-19-181 Plate Carrier Guide Bracket RH 18"-24" 3 $2,007.72 

1-504-01-442 Plate Carrier Guide Pin, 1/2-20" x 6", Contact us for more info 31 $52.80 

1-504-01-431 Plate Carrier Guide Pin, 1020 HR, Contact us for more info 8 $32.72 

1-504-01-435 Plate Carrier Guide Pin, 3/4-16" x 4", Contact us for more info 38 $29.98 

1-504-01-437 Plate Carrier Guide Pin, 3/4-16" x 7", Contact us for more info 30 $28.26 

1-504-01-982 Plate Carrier Stop Pin, ANSI 150-900, API 14.3 & Old AGA, (For sizes 2"-14") 81 $37.22 

1-504-01-420 Ring RTNR RLR, (For sizes 18"-24"), Contact us for more info 20 $0.21 

1-504-01-177 S-Box, (For sizes 2"-24"), Contact us for more info 1 $119.43 

1-509-03-410 Slide Valve Carrier Seat Pin, ANSI 150-2500, API 14.3 & Old AGA, (For sizes 
2"-14") 606 $0.28 

1-504-01-037 Slide Valve Spring, ANSI 150-2500, API 14.3 & Old AGA, (For sizes 2"-24") 23906 $1.74 

1-301-12-017 Slide Valve Strip, ANSI 150-2500, API 14.3 & Old AGA, (For sizes 2"-3") 197 $36.60 

1-504-01-077 SPG, Contact us for more info 15 $55.84 

1-504-01-001 Spring Soft Seat, (For sizes 4"-12"), Contact us for more info 39 $4.03 

1-604-03-053 Strip, 0.046" Thick, 3" Wide, Contact us for more info 160 $4.58 

1-604-03-061 Strip, 0.093" Thick, 3" Wide, Contact us for more info 1100 $3.23 

SENIOR ORIFICE FITTING



For sales inquiry,
Usman Shiekh
Phone: +1 (281) 982-1187
Email: ushiekh@Daniel.com

Decades Proven. Field Chosen.™

Copyright © 2023 Daniel Measurement and Control. All rights reserved.
PAGE 9 OF 55

UPDATED 2/28/2023

Differential Pressure
UNIVERSAL SPARE PARTS

Part Number Description Qty Unit 
Price

1-604-03-160 Strip, 0.125" Thick, 3" Wide, Contact us for more info 266 $8.42 

1-604-03-171 Strip, 0.172" Thick, 4" Wide, Contact us for more info 12 $36.96 

1-504-06-891 Stuffing Box 2"-6" 2500 ANSI 18 $40.89 

1-504-06-713 Stuffing Box Sleeve, 1-1/16", Contact us for more info 258 $14.57 

1-504-06-726 Stuffing Box Sleeve, 1-1/2", ANSI 900-1500, API 14.3 & Old AGA, (For sizes 
2"-14") 4161 $2.11 

1-504-06-718 Stuffing Box Sleeve, 1-1/4", ANSI 900-1500, API 14.3 & Old AGA, (For sizes 
2"-14") 196 $1.66 

1-504-06-716 Stuffing Box Sleeve, 1-3/16", ANSI 150, API 14.3 & Old AGA, (For sizes 2"-
14") 19 $1.37 

1-504-06-720 Stuffing Box Sleeve, 1-5/16", ANSI 300, API 14.3 & Old AGA, (For sizes 2"-
14") 104 $1.74 

1-7-277099-35 Stuffing Box Sleeve, 1-7/16", Contact us for more info 2 $139.29 

1-7-10030253-50 Stuffing Box Sleeve, 1-9/16", (For sizes 2"-24"), Contact us for more info 4 $99.44 

1-504-06-728 Stuffing Box Sleeve, 1-9/16", ANSI 150-600, 12"-14" 161 $2.13 

1-504-06-708 Stuffing Box Sleeve, 15/16", ANSI 150-900, API 14.3 & Old AGA, (For sizes 
2"-14") 2159 $1.72 

1-504-06-709 Stuffing Box Sleeve, 15/16", Contact us for more info 110 $3.30 

1-504-06-702 Stuffing Box Sleeve, 3/4", ANSI 150-1500, API 14.3 & Old AGA, (For sizes 2"-
14") 86 $1.74 

1-504-01-315 Stuffing Box SPRG RTNR, (For sizes 8"-12"), Contact us for more info 4 $50.89 

1-504-06-206 Stuffing Box, (For sizes 2"-24"), Contact us for more info 3 $92.45 

1-504-06-179 Stuffing Box, 1-1/2", (For sizes 2"-24"), Contact us for more info 21 $41.49 

1-504-01-271 Stuffing Box, 1-5/8", (For sizes 2"-24"), Contact us for more info 19 $241.56 

1-504-06-202 Stuffing Box, 2-1/2", (For sizes 2"-24"), Contact us for more info 1 $144.12 

1-504-06-198 Stuffing Box, 3-1/4", (For sizes 2-24"), Contact us for more info 10 $87.94 

1-504-01-203 Stuffing Box, ANSI 600, API 14.3 & Old AGA, (For sizes 16"-24") 8 $309.13 

1-504-01-184 Stuffing Box, ANSI 600, API 14.3 & Old AGA, (For sizes 16"-24") 13 $388.33 

1-301-19-067 Valve Carrier Guide LH/RH 2"-14" 9 $289.08 

1-508-01-050 Warning Plate, (For sizes 2"-24"), Contact us for more info 3843 $0.94 

SENIOR ORIFICE FITTING



For sales inquiry,
Usman Shiekh
Phone: +1 (281) 982-1187
Email: ushiekh@Daniel.com

Decades Proven. Field Chosen.™

Copyright © 2023 Daniel Measurement and Control. All rights reserved.
PAGE 10 OF 55

UPDATED 2/28/2023

Differential Pressure
 SPARE PARTS BY LINE SIZE

Part Number Description Qty Unit 
Price

1-502-10-073 Flange Gasket Klinger-Sil C-4430, 1/16” x 27/32” x 2-1/8” 94  $1.35 

1-502-10-079 Flange Gasket Klinger-Sil, 1/16” x 1-5/16” x 2-7/8” 3  $0.96 

1-301-15-604 Clamping Bar Senior 2" 2500 ANSI and for Simplex 3" 1500-2500 ANSI 6 $138.60 

DAN-20071562 Clamping Bar, ANSI 150-600, Contact us for more info 7 $320.34 

1-301-15-002 Clamping Bar, ANSI 900, A-Trim/NACE/AASG 30 $300.29 

1-301-18-005 Gear Shaft 2" and 3" SR 2500 ANSI NACE/AASG 3 $102.28 

1-331-14-831 Sealing Bar 150-600 AASG PED Duplex S31803 14.3 1 $59.40 

1-301-14-601 Sealing Bar 150-600 ANSI 5 $158.40 

1-301-14-006 Sealing Bar 1500 ANSI 2 $340.56 

1-301-14-605 Sealing Bar 2" and 3" SR 2500 ANSI A-Trim/NACE/AASG 1 $109.56 

DAN-20072978 Sealing Bar Gasket ANSI 125-600, 3/4" x 1-3/8" x 5-1/2", Contact us for 
more info 9 $176.01 

1-301-14-002 Sealing Bar, ANSI 900, A-Trim/NACE/AASG 34 $43.75 

1-504-01-562 Slide Valve Carrier, ANSI 150-1500 NACE/AASG 85 $23.34 

1-502-51-716 Slide Valve Seat / Top Gasket, ANSI 900 A-Trim/NACE/AASG 52 $8.08 

1-502-51-717 Slide Valve Seat Gasket, ANSI 1500 A-Trim/NACE/AASG 11 $2.49 

1-301-52-244 Slide Valve Seat, ANSI 150-900, for Soft Seat Senior 3 $601.92 

1-301-12-243 Slide Valve Seat, ANSI 2500 for 2" and 3" NACE/AASG 1 $645.48 

1-301-52-012 Slide Valve Strip 150-1500 for Soft Seat Senior 3 $708.84 

1-301-12-014 Slide valve Strip, ANSI 150-1500 112 $72.60 

1-301-12-011 Slide Valve Strip, ANSI 150-1500, A-Trim 22 $31.68 

1-301-12-020 Slide Valve Strip, ANSI 2500 for 2" and 3" 9 $85.80 

1-504-06-899 Stuffing Box 2" and 3" 2500 ANSI 1 $728.02 

1-331-15-382 Clamping Bar for 2" and 3" Simplex ANSI 150-900 PED Duplex S31803 2 $562.32 

1-301-14-235 Sealing Bar 2" 1500-2500 ANSI 3 $275.88 

1-301-14-506 Simplex Plate Carrier Assembly, ANSI 150-600, API 14.3 13 $50.48 

1-500-02-001 Simplex Sealing Bar Gasket High Temp 60 $7.54 

LINE SIZE 1/2”

SENIOR ORIFICE FITTING

LINE SIZE 1”

LINE SIZE 2”

LINE SIZE 2” FOR SIMPLEX



For sales inquiry,
Usman Shiekh
Phone: +1 (281) 982-1187
Email: ushiekh@Daniel.com

Decades Proven. Field Chosen.™

Copyright © 2023 Daniel Measurement and Control. All rights reserved.
PAGE 11 OF 55

UPDATED 2/28/2023

Differential Pressure
 SPARE PARTS BY LINE SIZE

Part Number Description Qty Unit 
Price

1-7-10052440-01 Downstream 3/600 LB, 1.939", RF WN 26 $203.28 

DAN-20052233 Downstream Flange 3/600 LB, 2.067", RF WN 2 $982.12 

1-502-10-088 Gasket Klinger-Sil 300-600 28 $1.36 

1-502-16-081 Gaskets RFFL 300/600 63 $5.06 

1-502-17-083 Gaskets RFFL 300/600 4 $12.53 

1-7-10052440-53 Upstream Flange 3/600 LB, 1.939", RF WN 2 $300.56 

DAN-20052232 Upstream Flange 3/600 LB, 2.067", RF WN 2 $982.12 

1-301-16-381 Clamping Bar 150-600 ANSI 14 $151.80 

1-301-53-271 Plate Carreir 14.3 2500 ANSI A/NACE 1 $2,055.91 

1-502-51-041 Sealing Bar Gasket, ANSI 900, Klinger-Sil 256 $4.77 

1-301-52-123 Slide Valve Carrier, 150-2500 for Soft Seat 1 $999.61 

1-502-51-734 Slide Valve Seat / Top Gasket, ANSI 900, Klinger-Sil 18 $4.49 

1-502-51-735 Slide Valve Seat Gasket, ANSI 1500, Klinger-Sil 1 $4.61 

1-301-52-254 Slide Valve Seat, 150-900 for Soft Seat 1 $510.06 

1-301-52-018 Slide Valve Strip 150-2500 for Soft Seat A/AASG 2 $539.88 

1-331-14-841 Sealing Bar, 150-600 ANSI, A/AASG, PED 1 $665.28 

1-301-14-243 Sealing Bar, 900 ANSI, A/AASG 2 $341.18 

DAN-20060173 Sealing Bar Duplex 1500-2500 1 $628.32 

1-502-16-087 Flexite Spiral Wound Gasket, 300/600, CG or Equal 20 $5.28 

1-7-10052440-05 Flange, 3/600 LB, 3.068, RF WN 18 $329.58 

LINE SIZE 2” FOR OFU

SENIOR ORIFICE FITTING

LINE SIZE 3”

LINE SIZE 3” FOR SIMPLEX

LINE SIZE 3” FOR OFU



For sales inquiry,
Usman Shiekh
Phone: +1 (281) 982-1187
Email: ushiekh@Daniel.com

Decades Proven. Field Chosen.™

Copyright © 2023 Daniel Measurement and Control. All rights reserved.
PAGE 12 OF 55

UPDATED 2/28/2023

Differential Pressure
 SPARE PARTS BY LINE SIZE

Part Number Description Qty Unit 
Price

1-301-16-385 Clamping Bar 150-600ANSI 18 $198.00 

1-301-15-015 Clamping Bar, 1500 ANSI 101 $85.80 

1-301-15-013 Clamping Bar, 900 ANSI 7 $51.48 

1-301-15-385 Clamping Bar,150-600 ANSI 349 $21.25 

1-301-53-741 Plate Carrier 14.3 150-1500 ANSI A/NACE 195 $74.12 

1-301-53-291 Plate Carrier 14.3 2500 ANSI A/NACE 2 $2,070.10 

1-301-14-613 Sealing Bar 150-600 ANSI 46 $176.88 

1-301-14-417 Sealing Bar 2500 ANSI 3 $483.85 

1-502-53-052 Sealing Bar Gasket 150-600 KlingerSil 16 $14.89 

1-502-53-060 Sealing Bar Gasket 900 ANSI KlingerSil 3 $20.95 

1-301-14-013 Sealing Bar, ANSI 150-600, API 14.3 & Old AGA, (For sizes 2"-14") 303 $19.80 

1-601-51-652 Slide Valve Carrier Soft Seat 150-2500 ANSI 5 $1,366.28 

1-504-01-568 Slide Valve Carrier, ANSI 150-2500 A-TRIM/NACE 1153 $20.70 

1-504-01-567 Slide Valve Carrier, ANSI 150-2500 AASG 40 $29.96 

1-502-53-749 Slide Valve Seat Gasket, 150-900 23 $42.77 
1-301-52-259 Slide Valve Seat, ANSI 150-900 222 $61.26 

1-301-12-030 Slide Valve Strip 150-2500 ANSI 34 $101.64 

1-301-12-027 Slide Valve Strip, ANSI 150-2500 A-TRIM 41 $40.46 

1-301-12-028 Slide Valve Strip, ANSI 150-2500 NACE/AASG 184 $33.00 

1-7-10044319-04 Clamping Bar 1500 ANSI 2 $735.74 

1-301-14-251 Sealing Bar 150-600 ANSI A-TRIM 1 $264.00 

1-7-10053749-09 Sealing Bar 1500 ANSI 3 $877.80 

1-502-51-936 Sealing Bar Gasket 150-600 C-4439 W/ NST Agent 1 $2.57 

1-502-51-935 Sealing Bar Gasket 150-600 KlingerSil 3 $4.37 

1-500-04-001 Sealing Bar Gasket, 900 ANSI, High Temp 3 $7.67 

1-308-14-219 Flange 600 ANSI, SCH 40, RF WN A105 4 $289.26 

1-502-17-179 Flange Gasket, 1/8" THK RFFL CGI 4 $26.51 

LINE SIZE 4”

SENIOR ORIFICE FITTING

LINE SIZE 4” FOR SIMPLEX

LINE SIZE 4” FOR OFU



For sales inquiry,
Usman Shiekh
Phone: +1 (281) 982-1187
Email: ushiekh@Daniel.com

Decades Proven. Field Chosen.™

Copyright © 2023 Daniel Measurement and Control. All rights reserved.
PAGE 13 OF 55

UPDATED 2/28/2023

Differential Pressure
 SPARE PARTS BY LINE SIZE

Part Number Description Qty Unit 
Price

1-331-15-380 Clamping Bar 150-900 ANSI 1 $370.72 

1-301-15-022 Clamping Bar 1500-2500 ANSI 5 $72.60 

1-301-13-153 Plate Carrier, 1500-200 ANSI AASG 1 $1,056.00 

1-301-14-024 Sealing Bar 150-900 ANSI A/NACE/AASG 606 $21.78 

1-331-14-024 Sealing Bar 600-900 ANSI 3 $528.00 

1-301-14-425 Sealing Bar, 1500-2500 ANSI 2 $59.40 

1-504-01-570 Slide Valve Carrier, 150-2500 ANSI A-TRIM 1515 $33.29 

1-504-01-569 Slide Valve Carrier, 150-2500 ANSI NACE/AASG 19 $39.40 

1-301-12-278 Slide Valve Seat, 1500 AASG/NACE 2 $894.96 

DAN-30001029 Slide Valve Strip, 150-600 ANSI 5 $512.71 

DAN-20071058 Slide Valve Strip, 150-600 ANSI AASG/NACE 2 $215.38 

1-601-51-554 Slide Valve Strip, Soft Seat 150-2500 16 $274.73 

1-504-06-730 Stuffing Box Sleeve, 1 5/8", ANSI 1500, 6" 299 $1.87 

1-301-15-384 Clamping Bar 150-900 ANSI 48 $23.40 

1-301-15-366 Clamping Bar 1599 ANSI 1 $79.20 

1-301-53-351 Plate Carrier, 14.3 150-2500 ANSI, A-TRIM/AASG 49 $57.86 

1-301-13-566 Plate Carrier, 14.3 150-600 ANSI A-TRIM/AASG 15 $68.88 

1-301-14-861 Sealing Bar 150-600 ANSI A/AASG 61 $36.04 

DAN-20058468 Sealing Bar, 14.3 900 ANSI 2 $567.60 

1-301-14-261 Sealing Bar, 150-600 ANSI 1 $132.00 

1-301-14-263 Sealing Bar, 900 ANSI 1 $133.32 

154899-419M Flange, 600 ANSI, RF Slip on 4 $1,089.00 

1-504-86-060 Bracket, 600 ANSI T-Tap 2 $166.99 

LINE SIZE 6”

SENIOR ORIFICE FITTING

LINE SIZE 6” FOR SIMPLEX

LINE SIZE 6” FOR OFU



For sales inquiry,
Usman Shiekh
Phone: +1 (281) 982-1187
Email: ushiekh@Daniel.com

Decades Proven. Field Chosen.™

Copyright © 2023 Daniel Measurement and Control. All rights reserved.
PAGE 14 OF 55

UPDATED 2/28/2023

Differential Pressure
 SPARE PARTS BY LINE SIZE

Part Number Description Qty Unit 
Price

1-301-18-036 Gear Shaft, 1500 ANSI, NACE/AASG 6 $206.08 

1-502-01-126 Sealing Bar Gasket 1500-2500 Viton 1 $50.17 

1-502-53-108 Sealing Bar Gasket, 150-600 ANSi, KlingerSil 1 $18.73 

1-502-51-116 Sealing Bar Gasket, 900 ANSI, KlingerSil C-4439 23 $3.54 

1-301-14-628 Sealing Bar, 150-600 ANSI 5 $250.80 

1-301-14-430 Sealing Bar, 1500 ANSI 23 $328.68 

DAN-20053813 Slide Valve Carrier 1500 ANSI 386 $66.87 

1-301-12-139 Slide Valve Carrier, 150-1500 ANSI, AASG 2 $2,217.60 

1-301-52-289 Slide Valve Seat, 900-1500 ANSI, A-TRIM 3 $649.44 

1-301-52-050 Slide Valve Strip, Soft Seat 150-1500 ANSI 9 $363.00 

1-504-06-144 Stuffing Box Assembly 150-600 ANSI 1 $102.03 

1-504-06-744 Stuffing Box Sleeve, 2 1/16", ANSI 1500, 8" 112 $1.89 

1-502-53-790 Valve Seat Gasket, 150-600 ANSI, KlingerSil 7 $40.29 

1-502-51-798 Valve Seat Gasket, 1500 ANSI KlingerSil C-4439 98 $7.71 

1-502-51-797 Valve Seat Gasket, 900 ANSI KlingerSil C-4439 16 $10.10 

1-301-15-138 Clamping Bar 150-600 ANSI 3 $7.77 

1-301-15-028 Clamping Bar, 2500 ANSI 3 $117.48 

1-301-53-361 Plate Carrier, 150-2500 ANSI, 14.3 2 $442.20 

1-301-14-875 Plate Carrier, 1500-2500 ANSI 14.3 1 $596.64 

1-301-14-871 Plate Carrier, 600 ANSI 14.3 3 $19.80 

1-301-14-880 Plate Carrier, 900-1500 ANSI 14.3 1 $343.20 

1-301-14-134 Sealing Bar Gasket, 150-600 ANSI, A-TRIM/AASG 1 $97.68 

1-502-53-950 Sealing Bar Gasket, 150-900 ANSI 1 $22.31 

1-7-10052440-16 Flange, 300 ANSI RF/WN SCH 40 3 $377.10 

LINE SIZE 8”

SENIOR ORIFICE FITTING

LINE SIZE 8” FOR JUNIOR

LINE SIZE 8” FOR OFU



For sales inquiry,
Usman Shiekh
Phone: +1 (281) 982-1187
Email: ushiekh@Daniel.com

Decades Proven. Field Chosen.™

Copyright © 2023 Daniel Measurement and Control. All rights reserved.
PAGE 15 OF 55

UPDATED 2/28/2023

Differential Pressure
 SPARE PARTS BY LINE SIZE

Part Number Description Qty Unit 
Price

DAN-20055956 Clamping Bar, 600 ANSi 2 $348.48 

1-301-13-161 Plate Carrier, 1500 ANSI 2 $1,238.16 

1-301-14-034 Sealing Bar 150-300 ANSI, A-TRIM/AASG 16 $1,320.00 

1-301-14-037 Sealing Bar Gasket, 1500 ANSI, A-TRIM/AASG 21 $158.97 

1-301-14-036 Sealing Bar Gasket, 900 ANSI, A-TRIM/AASG 13 $132.00 

1-301-52-304 Slide Valve Seat, 150-600 ANSI, Soft Seat 1 $726.00 

DAN-20063732 Slide Valve, 2500 ANSI (10" and 12") 4 $2,499.58 

1-504-06-736 Stuffing Box Sleeve, 1 13/16", ANSI 900-1500 10" 190 $2.38 

1-502-10-119 Flange Gasket, 300 ANSI RF/FL 18 $7.87 

1-502-16-112 Flange Gasket, RF/FL, 300 ANSI, 1/8" THK, CG or Equal 304/Flexitallic 4 $13.05 

DAN-20084353 Flange Gasket, RF/FL, 300 ANSI, 1/8" THK, CG or Equal 316/Flexitallic 2 $16.16 

DAN-20052256 Flange, 5167, 300 ANSI, RF/WN 2 $1,155.54 

1-301-15-036 Clamping Bar, 150 ANSI 5 $100.32 

1-7-10030253-41 Clamping Bar, 300-600 ANSI 1 $488.82 

1-7-10014150-20 Gear Shaft, 150-300 ANSI/ Junior 150-900 ANSI 3 $2,640.00 

1-301-18-045 Gear Shaft, 1500 ANSI, NACE/AASG / Junior 7 $351.53 

1-301-19-700 Guide Rail, LH, 150-1500 ANSI Soft Seat 3 $429.00 

1-301-19-701 Guide Rail, RH, 150-1500 ANSI Soft Seat 1 $429.00 

1-7-10030253-49 Plate Carrier 150-90 ANSI 1 $2,958.08 

1-7-10030253-43 Sealing Bar, 300-600 ANSI 1 $563.05 

1-601-01-660 Slide Valve Carrier 150-1500 ANSI NACE 2 $289.87 

1-7-421435-41 Slide Valve Carrier, 150-1500 ANSI, AASG 1 $2,045.33 

1-502-51-827 Slide Valve Seat Gasket, 900 ANSI, KlingerSil 24 $9.27 

1-301-12-307 Slide Valve Seat, 150-600 ANSI NACE/AASG 37 $818.40 

1-7-10030253-47 Slide Valve Seat, 150-600 ANSI, AASG 1 $1,006.06 

1-301-12-318 Slide Valve Seat, Soft Seat, 150-600 ANSI 1 $781.44 

1-301-52-064 Slide Valve Strip Insert, 150-1500 ANSI Soft Seat 1 $564.96 

1-7-10030253-45 Slide Valve Strip, 150-1500 ANSI 1 $1,104.26 

LINE SIZE 10”

SENIOR ORIFICE FITTING

LINE SIZE 12”

LINE SIZE 10” FOR OFU



For sales inquiry,
Usman Shiekh
Phone: +1 (281) 982-1187
Email: ushiekh@Daniel.com

Decades Proven. Field Chosen.™

Copyright © 2023 Daniel Measurement and Control. All rights reserved.
PAGE 16 OF 55

UPDATED 2/28/2023

Differential Pressure
 SPARE PARTS BY LINE SIZE

Part Number Description Qty Unit 
Price

1-301-15-145 Clamping Bar, 150-600 ANSI 1 $66.00 

1-502-51-381 Sealing Bar Gasket, 900 ANSI, KlingerSil C-4430 51 $4.24 

1-502-16-194 Flange Gasket, 600 ANSI, RF/FL, CGI or Equal 304/Flexitalic 13 $92.94 

1-301-14-046 Sealing Bar, 150-600 ANSI A-TRIM/AASG 3 $132.00 

1-301-15-149 Clamping Bar, 150-600 ANSI 1 $12.96 

1-301-14-148 Sealing Bar, 150-600 ANSI 1 $10.56 

1-601-01-616 Valve Carrier, 150-1500 ANSI, A-TRIM/NACE/AASG 1 $247.50 

1-301-15-046 Clamping Bar, 150-300 ANSI 0 $99.00 

DAN-20057312 Sealing Ring Metallic Spring 14.3 9 $66.00 

1-601-01-664 Slide Valve Carrier, 150-1500 ANSi, AASG 1 $269.93 

1-301-12-334 Slide Valve Seat, 150-600 ANSI A-TRIM 4 $692.98 

1-301-13-111 Gear Shaft, 150-600 ANSI AASG 2 $754.45 

1-502-10-213 Flange Gasket, 600 ANSI, RF/FL 1 $28.38 

1-3-9008-008 Daniel Instruction Manual 1452 $8.59 

1-301-13-066 Gear Shaft, 300-600 ANSI / 900 ANSI Junior A-TRIM 7 $1,233.04 

1-301-13-067 Gear Shaft, 300-600 ANSI / 900 ANSI Junior AASG 10 $525.69 

1-301-19-114 Shaft Extension 3 $117.12 

1-502-51-848 Slide Valve Seat Gasket, 150-600 ANSI, KlingerSil 1 $14.14 

1-502-10-131 Flange Gasket, 300 ANSI RF/FL 6 $20.61 

LINE SIZE 12” FOR JUNIOR

SENIOR ORIFICE FITTING

LINE SIZE 14”

LINE SIZE 12” FOR OFU

LINE SIZE 14” FOR JUNIOR

LINE SIZE 16”

LINE SIZE 16” FOR JUNIOR

LINE SIZE 16” FOR OFU

LINE SIZE 18”

LINE SIZE 18” FOR OFU



For sales inquiry,
Usman Shiekh
Phone: +1 (281) 982-1187
Email: ushiekh@Daniel.com

Decades Proven. Field Chosen.™

Copyright © 2023 Daniel Measurement and Control. All rights reserved.
PAGE 17 OF 55

UPDATED 2/28/2023

Differential Pressure
 SPARE PARTS BY LINE SIZE

Part Number Description Qty Unit 
Price

DAN-20087500 Gear Shaft, 600-900 ANSI 9 $622.96 

DAN-20082785 Plate Carrier Guide Rail, 600-900 ANSI 1 $1,089.00 

1-301-19-833 Plate Carrier Guide Rail, 600-900 ANSI 5 $145.64 

1-301-13-180 Plate Carrier, 150-1500 ANSI, A-TRIM 4 $3,102.00 

1-301-14-057 Sealing Bar 600-900 ANSI, A-TRIM/AASG 4 $178.20 

DAN-20067692 Sealing Bar Gasket, 600-900 ANSI, KlingerSil 1 $660.00 

1-301-19-327 Shaft Support RH and LH 2 $987.90 

1-301-52-088 Slide Valve Strip Insert, 150-1500 ANSI 1 $488.40 

1-601-01-622 Valve Carrier 150-600 ANSI A-TRIM 2 $402.56 

1-502-51-855 Valve Seat Gasket, 900-1500 ANSI KlingerSil C-4430 1 $27.47 

1-502-51-614 Body Top Gasket, 900 ANSI, KlingerSil C-4430 2 $44.63 

1-301-13-077 Gear Shaft, 150-300 ANSI/ Junior 150-600 ANSI 5 $995.07 
1-502-51-232 Sealing Bar Gasket, 150-300 ANSI, KlingerSil 19 $4.18 
1-502-51-860 Slide Valve Seat Gasket, 150-300 ANSI KlingerSil 25 $15.14 

1-502-51-859 Slide Valve Seat Gasket, 600-900 ANSI KlingerSil 6 $17.99 

1-301-13-087 Gear Shaft, Senior and Junior 300-600 ANSI NACE/AASG 5 $487.79 

DAN-20089609 30" OFU Flange 600 ANSI RF WN SCH Standard 2 $8,428.20 

SENIOR ORIFICE FITTING

FAST DELIVERY
1-2 Weeks

PREFERRED 
PRICING

100% GENUINE
Daniel Products & Parts

CONTACT US
Mondays to Friday, 
8 am - 5 pm CST

$$

LINE SIZE 20”

LINE SIZE 24”

LINE SIZE 30”

LINE SIZE 30” FOR OFU



For sales inquiry,
Usman Shiekh
Phone: +1 (281) 982-1187
Email: ushiekh@Daniel.com

Decades Proven. Field Chosen.™

Copyright © 2023 Daniel Measurement and Control. All rights reserved.
PAGE 18 OF 55

UPDATED 2/28/2023

Differential Pressure
O-RINGS

Part Number Description Qty Unit 
Price

1-503-02-513 2-012 .070 X 3/8 X 1/2 VITON O-RING 70 D 3811 $0.07 

1-503-02-613 DASH NO. 2-114 .103 X 5/8 X 13/16 VITON 53 $0.13 

1-503-02-712 DASH NO. 2-212 .139 X 7/8 X 1-1/8 VITON 83 $0.26 

1-503-02-719 DASH NO. 2-220 .139 X 1-3/8 X 1-5/8 VITO 26 $0.42 

1-503-02-231 DASH NO. 2-231 .139 X 2-5/8 X 2-7/8 BUNA 47 $0.20 

1-503-02-735 DASH NO. 2-235 .139 X 3-1/8 X 3-3/8 VITO 26 $1.77 

1-503-07-241 DASH NO. 2-241 O-RING NATIONAL V23 OR EQ 5 $1.14 

1-503-02-857 DASH NO. 2-357 .210 X 5-1/2 X 5-7/8 VITO 2 $19.83 

1-503-04-216 O-RING FKM VULCANIZED 90 DURO ID:15.250 5 $12.61 

1-503-62-113 O-RING NO. 2-113 FKM (LOW TEMP) 75 DURO 3 $14.85 

1-503-05-114 O-RING NO. 2-114 BUNA-N PEROXIDE CURE 90 555 $0.92 

1-503-05-140 O-RING NO. 2-140 BUNA-N PEROXIDE CURE 90 8 $0.71 

1-503-05-152 O-RING NO. 2-152 BUNA-N PEROXIDE CURE 90 16 $1.43 

1-503-07-155 O-RING NO. 2-155 FKM 90 DURO NATIONAL V2 54 $1.53 

1-503-22-157 O-RING NO. 2-157 FKM (NACE) 90 DURO MTL- 47 $17.28 

1-503-07-163 O-RING NO. 2-163 FKM 90 DURO NATIONAL V2 278 $2.27 

1-503-12-163 O-RING NO. 2-163 HNBR 80-90 DURO MTL-EOR 24 $22.98 

1-503-05-171 O-RING NO. 2-171 BUNA-N PEROXIDE CURE 90 110 $1.64 

1-503-12-171 O-RING NO. 2-171 HNBR 80-90 DURO MTL-EOR 10 $18.73 

1-503-05-212 O-RING NO. 2-212 BUNA-N PEROXIDE CURE 90 273 $0.71 

1-503-05-220 O-RING NO. 2-220 BUNA-N PEROXIDE CURE 90 107 $0.71 

1-503-62-220 O-RING NO. 2-220 FKM (LOW TEMP) 75 DURO 154 $6.72 

1-503-12-235 O-RING NO. 2-235 HNBR 80-90 DURO MTL-EOR 2 $19.83 

1-503-07-247 O-RING NO. 2-247 FKM 90 DURO NATIONAL V2 4 $3.55 

1-503-12-263 O-RING NO. 2-263 HNBR 80-90 DURO MTL-EOR 5 $6.78 

1-503-12-272 O-RING NO. 2-272 HNBR 80-90 DURO MTL-EOR 1 $25.66 

1-503-05-276 O-RING NO. 2-276 BUNA-N PEROXIDE CURE 90 1 $1.10 

1-503-52-344 O-RING NO. 2-344 BUNA-N 70 DURO MTL-EOR- 288 $2.98 

1-503-16-430 O-RING NO. 2-430 BUNA-N 70 DURO MTL-EOR- 22 $0.67 

1-503-16-439 O-RING NO. 2-439 BUNA-N 70 DURO MTL-EOR- 6 $0.86 

1-503-05-445 O-RING NO. 2-445 BUNA-N PEROXIDE CURE 90 22 $5.16 



For sales inquiry,
Usman Shiekh
Phone: +1 (281) 982-1187
Email: ushiekh@Daniel.com

Decades Proven. Field Chosen.™

Copyright © 2023 Daniel Measurement and Control. All rights reserved.
PAGE 19 OF 55

UPDATED 2/28/2023

Differential Pressure
O-RINGS

Part Number Description Qty Unit 
Price

1-503-62-453 SR 20 125-300 MS 3/4 X 1-3/4 X 26-3/4 SEALING BAR A AND AASG 10 $103.24 

1-503-62-443 SR 20 600-900 AND JR 900-1500 MS 3/4 X 2-1/4 X 26-1/2 S-BAR A AND 
AASG 45 $13.86 

Differential Pressure
SCREWS / NUTS

Part Number Description Qty Unit 
Price

1-507-01-141 [K] 1/4-18 NPT HEX HEAD PIPE PLUG 316SS 77 $19.80 

1-551-02-584 1-1/8-12 UNF X 4 DBL END STUD A193-B7MQT 2 $59.81 

1-551-01-585 1-1/8-12 UNF X 4-1/8 DBL ENDD STUD A193- 22 $17.53 

1-551-02-589 1-1/8-12 UNF X 4-5/8 DBL ENDD STUD A193- 18 $24.50 

1-561-11-582 1-14 A194 GR7M W/CHARPY CS OLD STYLE HEX 42 $95.75 

1-551-02-511 1-14 NS X 4-1/4 DBL END STUD A193-B7MQT 3 $15.10 

1-551-01-511 1-14 NS X 4-1/4 DBL END STUD A193-B7QT 219 $1.68 

1-551-01-510 1-14 NS X 4-1/8 DBL END STUD A193-B7QT 22 $8.61 

1-551-35-518 1-14 NS X 5-1/8 DBL END STUD A320 GR.L7M 4 $81.68 

1-551-01-518 1-14 UNS X 5-1/8 DBL END STUD A193-B7QT 60 $14.89 

1-561-05-203 1/2-13 A194 GR2H HEX NUT HEAVY SEMI-FIN 8 $0.21 

1-555-11-214 1/2-13 UNC X 1-1/2 HEX HD CAP SCR CAD-PL 3190 $31.17 

1-555-01-214 1/2-13 UNC X 1-1/2 HEX HD LOW CARBON BRI 4 $0.22 

1-555-01-220 1/2-13 UNC X 3 HEX HD LOW CARBON BRIGHT 4 $1.52 

1-555-01-222 1/2-13 UNC X 3-1/2 HEX HD LOW CARBON BRI 1 $0.65 

1-507-01-163 1/2-14 NPT HEX HEAD PLUG UNS S31803 EVER 36 $193.16 

1-509-03-044 1/4 X 1-1/4 CS HT STRAIGHT DOWEL PIN 23 $0.55 

1-507-01-101 1/4-18 NPT HEX HEAD PIPE PLUG CS 113 $1.35 

1-555-21-026 1/4-20 UNC X 1-1/8 HEX HD CAP SCREW A193 14 $6.63 

1-555-44-021 1/4-20 UNC X 1/2 FERRY HD CAP SCREW 60 S 235 $0.81 

1-557-09-268 1/4-20 UNC X 1/2 SLOT FLAT HD MACH SCREW 193 $0.05 

1-555-35-021 1/4-20 UNC X 1/2 SOCKET HD 316SS CAP SCR 281 $0.91 

1-557-33-264 1/4-20UNC X 1/4 PAN HD 18-8 SS MACHINE S 4671 $0.12 



For sales inquiry,
Usman Shiekh
Phone: +1 (281) 982-1187
Email: ushiekh@Daniel.com

Decades Proven. Field Chosen.™

Copyright © 2023 Daniel Measurement and Control. All rights reserved.
PAGE 20 OF 55

UPDATED 2/28/2023

Differential Pressure
SCREWS / NUTS

Part Number Description Qty Unit 
Price

1-555-45-022 1/4-2OUNC X 1/2 FERRY-HEX HDD C/SCR A193 136 $52.03 

1-555-61-005 10-24 UNC X 3/8 SKT FLAT HD CAP SCR 18-8 105 $0.04 

1-550-55-399 3/4-10 X 6 FULL THD STUD A193-B7QT 8 $3.10 

1-507-01-154 3/4-14 NPT HEX HEAD PIPE PLUG A105 NACE/ 2277 $2.46 

1-507-01-171 3/4-14 NPT HEX HEAD PIPE PLUG A350-LF2 102 $14.81 

1-507-01-320 3/4-14 NPT HEX SOCKET PIPE PLUG 316SS 329 $14.68 

1-507-01-305 3/4-14 NPT HEX SOCKET PIPE PLUG CS 1020 $0.40 

1-561-11-080 3/4-16 A194 GR7 W/CHARPY O/S HEX NUT FIN 299 $20.00 

1-561-12-080 3/4-16 OLD STYLE HEX NUT FIN SC WF 1.055 673 $53.12 

1-551-02-370 3/4-16 UNF X 2-3/4 DBL END STUD A193-B7M 135 $22.81 

1-551-01-370 3/4-16 UNF X 2-3/4 DBL END STUD A193-B7Q 117 $2.96 

1-551-34-370 3/4-16 UNF X 2-3/4 DBL END STUD A320 GR. 2 $22.70 

1-551-35-367 3/4-16 UNF X 2-3/8 DBL END STUD A320 GR. 1165 $8.08 

1-551-34-372 3/4-16 UNF X 3 IN DBL END STUDD A320 GR. 110 $21.46 

1-551-02-373 3/4-16 UNF X 3-1/8 DBL END STUD A193-B7M 3 $185.00 

1-551-01-373 3/4-16 UNF X 3-1/8 DBL END STUD A193-B7Q 15 $20.38 

1-7-10030253-17 3/4-16 UNF X 3-3/8 DBL END STUD A320L7M 22 $27.89 

1-509-03-076 3/8 X 1-3/4 CS HT STRAIGHT DOWEL PIN 8 $0.67 

1-509-03-079 3/8 X 2-1/2 CS HT STRAIGHT DOWEL PIN 1 $1.10 

1-509-03-084 3/8 X 2-3/4 CS HT STRAIGHT DOWEL PIN 6 $4.95 

1-509-03-082 3/8 X 3-1/2-IN 316SS STRAIGHT DOWEL PIN 44 $4.88 

1-555-42-315 5/8-11 UNC X 2-1/4 FERRY HD CAP SCREW HA 87 $16.28 

1-550-55-326 5/8-11 X 5-1/2 FULL THD STUD A193-B7QT 170 $0.84 

1-550-61-326 5/8-11 X 5-1/2 YZP FULL THD STUD A193-B7 2 $8.61 

1-551-07-300 5/8-18 UNF X 2-1/8 DBL END STUD A193-B7Q 14 $79.91 

1-551-01-306 5/8-18 UNF X 2-7/8 DBL END STUD A193-B7Q 110 $0.91 

1-551-35-306 5/8-18 UNF X 2-7/8 DBL END STUD A320 GR. 625 $51.56 

1-551-02-308 5/8-18 UNF X 3-1/8 DBL END STUD A193-B7M 603 $2.53 

1-551-07-308 5/8-18 UNF X 3-1/8 DBL END STUD A193-B7Q 1 $86.46 

1-551-01-308 5/8-18 UNF X 3-1/8 DBL END STUD A193-B7Q 178 $5.28 

1-551-35-308 5/8-18 UNF X 3-1/8 DBL END STUD A320 GR. 9 $103.95 



For sales inquiry,
Usman Shiekh
Phone: +1 (281) 982-1187
Email: ushiekh@Daniel.com

Decades Proven. Field Chosen.™

Copyright © 2023 Daniel Measurement and Control. All rights reserved.
PAGE 21 OF 55

UPDATED 2/28/2023

Differential Pressure
SCREWS / NUTS

Part Number Description Qty Unit 
Price

1-550-61-479 7/8-9 X 6-1/4 YZP FULL THD STUD A193-B7Q 286 $5.66 

1-560-01-309 A/FAB 3/4-10 X 3 UNC SQ HD CUPPT CS CA 13 $1.45 

1-301-19-204 BRZ BSHG 5/8 X 1-1/8 X 1-1/2 M1018-12 BO 12 $10.11 

1-562-10-608 HOLLOW LOCK SCREW 3/4-16 X 3/8 316SS 273 $29.22 

1-562-10-605 HOLLOW LOCK SCREW 3/4-16 X3/8 ALLOY STEE 137 $5.31 

1-507-01-104 PLUG 3/4-14 NPT HEX HEAD (A/FAB) (K) 296 $1.24 

1-555-01-312 SCREW CAP HEX HD LOW CARBON BRIGHT (5/8- 56 $0.34 

1-555-21-120 SCREW CAP HEX HEAD SS 3/8-16 UNC X 3-3/8 4 $179.52 

1-555-40-210 SCREW CAP SKT HD SHOULDER ALLOY (3/8-16U 37 $1.33 

1-555-17-200 SCREW HEX HEAD CS 1/2-13 UNC X 3/4 ZINC 14 $0.42 

1-560-52-003 SCREW SOCKET HD CUP PT ALLOY HT SET M3 X 139 $0.04 

151305N STUD CS TAP END: L: 1.781, TE: 0.563 X 7 638 $16.50 

1-551-02-598 STUD DE (A193-B7MQT HT) (1-1/8-12 UNF X 28 $23.22 

1-551-35-584 STUD DE (A320 GR.L7M) (1-1/8-12 UNS X 4) 2 $70.22 

FAST DELIVERY
1-2 Weeks

PREFERRED 
PRICING

100% GENUINE
Daniel Products & Parts

CONTACT US
Mondays to Friday, 
8 am - 5 pm CST

$$



For sales inquiry,
Usman Shiekh
Phone: +1 (281) 982-1187
Email: ushiekh@Daniel.com

Decades Proven. Field Chosen.™

Copyright © 2023 Daniel Measurement and Control. All rights reserved.
PAGE 22 OF 55

UPDATED 2/28/2023

Differential Pressure
DISCONTINUED PRODUCTS

Part Number Description Qty Unit 
Price

SO406751-012 1-IN 1500-LB RTJ BLIND FLANGE 316 ST STL 32 $228.77 

1-601-61-079 14.3 SR 4 1500 FN 017-4C BODY CSTG 3 ID 1 $3,913.80 

1-601-01-169 BODY 10 300 FN PTN 013-10 SR CASTING 8-7 2 $6,507.80 

1-601-02-157 BODY 12-600 FN WCB PTN 025-12 JR CSTG MT 1 $7,064.64 

DAN-20054504 BODY 14.3 SR 2 IN 2.067 ID 600 ANSI RFFN 2 $566.89 

DAN-20056338 BODY 14.3 SR 3 IN 3.068 ID 600 ANSI RFFN 1 $789.99 

1-301-40-543 BODY 14.3 SR 3 IN 3.068 ID 600 RFFN LCC 9 $620.20 

1-301-33-556 BODY 14.3 SR 8 IN 7.813 ID 600 RFFN WCB 1 $3,001.50 

1-301-67-655 BODY 14.3-DTT SX 3 IN 2.900 ID 600 RF FN 1 $213.48 

1-7-10049352-02 BODY 5167 SX 2 1.503 ID 1500 RTJ FN A352 1 $2,475.01 

1-601-21-433 BODY 6-150-300 ANS WCB PATT 2003-6-3 TM 1 $908.16 

1-601-21-446 BODY 8-600 ANS WCB PATT 2005-8-3 GM CAST 1 $1,848.92 

DAN-20052691 BODY CASTING (FN) 4 IN 600 ANSI SR ORIFI 5 $3,194.76 

154893-419M FLG 2-1/2-IN CLASS 2500 RTJ BLIND FLANGE 6 $1,274.00 

1-601-90-183 NEW DESIGN BODY SR 10 600 FN 015-10 WCB 6 $3,237.46 

1-631-62-108 OLD DESIGN SR 6 600 FN 015-6C BODY CSTG 6 $5,516.33 

1-601-85-405 TOP 2 150-600 LCC PTN 150-600-2T SR CSTG 147 $130.24 

DAN-20056478 TOP MACHINE 2 IN 150/600 ANSI SR ORIFICE 3 $894.89 

DAN-20056479 TOP MACHINE 3 IN 150/600 ANSI SR ORIFICE 2 $588.71 

1-605-04-523 1 X 4 410SS FLAT BAR 42 $21.34 

1-605-04-112 1/4 X 1 1018CF FLAT BAR MTL-A108-01 NON- 144 $0.28 

1-301-19-743 12 150-1500 SR 316SS P-C POSITIONER SOFT 5 $66.00 

1-7-10049352-08 14.3 2 1500-2500 SX 3/4 X 2 -1/4 X12-1/2 9 $608.52 

1-301-14-845 14.3 3 1500-2500 SX MS 3/4X2-1/4X13-3/4 1 $265.32 

1-301-53-857 14.3 P-C SR 6 150-2500 316SS F/ TSC/SNC 1 $146.85 

1-301-53-331 14.3 P-C SX 3 150-2500 316SSS (INV.CAST) 305 $29.53 

1-605-04-340 5/8 X 2 CS PLATE F/CLAMPING BAR MTL-A516 793 $18.72 

1-504-09-023 5/8 X 25-7/8 GEAR SHAFT BLANK- MACHINED 3 $261.44 

DAN-20073113 5167 4 IN CL1500 SX 3/4 X 2-1/4 X 16 SEA 1 $612.02 

1-605-04-427 BAR FL 1018 CF MTL-A108-01 (3/ 4 X 3) 91 $2.84 

CASTINGS / RAW MATERIALS

SPARES



For sales inquiry,
Usman Shiekh
Phone: +1 (281) 982-1187
Email: ushiekh@Daniel.com

Decades Proven. Field Chosen.™

Copyright © 2023 Daniel Measurement and Control. All rights reserved.
PAGE 23 OF 55

UPDATED 2/28/2023

Differential Pressure
DISCONTINUED PRODUCTS

Part Number Description Qty Unit 
Price

1-301-19-702 BODY SECTION, 12IN 150-1500 SR SOFT SEAT 3 $5,280.00 

1-301-15-140 CLAMPING BAR JR 10 IN 125-300 1018 CF (5 3 $149.92 

DAN-20073109 CLAMPING BAR SIMP 4 IN CL1500 3/4 X 3 X 1 $904.33 

1-301-15-034 CLAMPING BAR SR 10 IN-12 IN 2500 NS 4130 8 $2,622.84 

1-301-15-004 CLAMPING BAR SR 2 IN-3 IN 2500 AND 3 IN 29 $79.20 

1-301-15-014 CLAMPING BAR SR 4 2500 1-1/2 X 3 X 9-7/8 2 $246.84 

1-301-16-027 CLAMPING BAR SR-JR-SX 8 1500 3/4 X 3 X 1 4 $240.03 

1-301-15-045 CLAMPING BAR SR/JR 16 900/1500 3/4 X 3 X 4 $220.41 

DAN-20058495 CLAMPING BAR SX 6 IN 150-900 (5/8 X 2 X 1 $726.00 

1-301-18-021 DE SHAFT 4 2500 SR AASG/ NACE 316SS 22-1 15 $344.89 

1-504-01-011 EQU VALVE CUST ASSY 2-48 A TRIM 8 $23.02 

1-504-01-004 EQU VALVE CUST ASSY 2-48 AASG/NACE TRIM 17 $31.73 

1-301-13-526 P-C 14.3 SX 3 IN 150-600 ASSY (A/AASG) 3 $47.18 

1-301-13-546 P-C 14.3 SX 4 IN 150-600 ASSY (A/AASG) ( 1 $53.91 

1-301-13-307 P-C 2-IN 150/2500 SX AASG 316/316L SS DU 2 $463.32 

1-301-13-313 P-C 4-IN 150/2500 SX A36 CS ZP (PLATE) 4 $265.32 

DAN-20055825 P-C SR/JR 10 IN 150-1500 316/316L DUAL-C 9 $263.27 

1-502-06-759 RING NO BX-159 ZINC PLATED SOFTT IRON G 26 $115.39 

1-301-14-405 S-BAR SR 2 IN AND 3 IN 2500 AND 3-1500 M 4 $109.56 

1-301-14-432 S-BAR SR-JR 8 IN 2500 NS-8-78 A CRS SEAL 28 $145.20 

DAN-20087542 S-BOX SR 20-IN 600/900 TOP C1018 CFSR SZ 5 $627.00 

1-7-10055210-17 SEALING BAR SR 24 IN 600-900 MS (3/4 X 2 1 $1,936.44 

DAN-20075250 SENIOR ORIFICE FITTING REFURBISHMENT INS 19 $54.27 

DAN-20075350 SENIOR ORIFICE FITTING REFURBISHMENT KIT 18 $54.27 

1-301-13-123 SHAFT 20 150-300 JR NACE/AASG 316SS 7/8 2 $875.65 

1-301-19-095 SHAFT SPACER SR 12 2500 NS-3-79 316SS 10 98 $2.92 

1-301-19-338 SHAFT SUPPORT BUSHG 20 AND 24 900 1.000 8 $120.17 

1-301-14-255 SIMP 4 1500-2500 MS 3/4X2-1/4X16 SEALING 3 $511.43 

1-301-14-039 SR 10 AND SR/JR 12 2500 NS-3-79 SEALING 23 $1,008.96 

1-301-14-040 SR 12 125-150 MS 3/4 X 1-1/2 X 16-1/4 SE 1 $132.00 

1-601-51-757 SR 6 150-1500 VLV SEAT CA6NM INVESTMENT 10 $330.00 



For sales inquiry,
Usman Shiekh
Phone: +1 (281) 982-1187
Email: ushiekh@Daniel.com

Decades Proven. Field Chosen.™

Copyright © 2023 Daniel Measurement and Control. All rights reserved.
PAGE 24 OF 55

UPDATED 2/28/2023

Differential Pressure
DISCONTINUED PRODUCTS

Part Number Description Qty Unit 
Price

1-007-01-001 SR KIT-E 2 IN-12 IN 150-1500 PARTS/MANUA 92 $68.26 

1-331-12-038 STRIP 6 125-2500 A/AASG 17-4 NTRD 1/4X1- 3 $400.95 

1-301-52-143 VALVE CARR 10 150-1500 SOFT SEAT 316/316 3 $900.72 

1-301-52-121 VALVE CARR 2 150-1500 SOFT SEAT 316SS A/ 8 $1,285.12 

1-301-12-145 VALVE CARRIER 12 125-1500 A/NACE DI 7 $485.04 

1-301-12-160 VALVE CARRIER 20 125-1500 A/NACE WCB 2 $774.84 

1-301-12-300 VALVE SEAT 10 900-1500 AASG/NACE 316/316 4 $1,507.44 

1-301-12-264 VALVE SEAT 4 2500 AASG/NACE 316SS W/KEYS 3 $458.48 

1-301-52-038 VALVE STRIP 6 150-2500 SOFT SEAT 316/316 1 $538.56 

1-301-52-060 VLV STRIP INSERT 10 150-1500 SOFT SEAT 3 4 $567.60 

1-503-13-222 -222 O-RING SIZE BACKUP RING MTL-EOR-007 284 $0.21 

1-314-09-030 14.3 8SNC 3-IN ZPMS INTERNAL RING 1/8 PL 1 $1,313.04 

1-503-02-630 2-133 .103 X 1-13/16 X 2 VITON O-RING 70 7 $0.34 

1-503-02-636 2-139 .103 X 2-3/16 X 2-3/88 VITON O-RIN 8 $0.51 

1-503-02-759 2-259 .139 X 6-1/4 X 6-1/2 VITON O-RING 2 $2.82 

1-502-26-285 GASKET 5-31/64ID 1/8W .156TKK TEFLON 19 $6.38 

157034-116 O-RING -021 PARKER C0873 CR 70 DURO ID: 16 $14.92 

1-503-05-035 O-RING NO. 2-035 BUNA-N PEROXIDE CURE 90 8 $0.71 

1-503-52-120 O-RING NO. 2-120 BUNA-N 70 DURO MTL-EOR- 19 $0.81 

1-503-07-164 O-RING NO. 2-164 FKM 90 DURO NATIONAL V2 4 $3.41 

1-503-07-171 O-RING NO. 2-171 FKM 90 DURO NATIONAL V2 4 $4.04 

1-503-52-222 O-RING NO. 2-222 BUNA-N 70 DURO MTL-EOR- 84 $0.87 

1-503-16-443 O-RING NO. 2-443 BUNA-N 70 DURO MTL-EOR- 22 $1.08 

1-503-05-448 O-RING NO. 2-448 BUNA-N PEROXIDE CURE 90 18 $3.79 

1-503-32-452 O-RING NO. 2-452 FKM (AASG) 90 DURO MTL- 21 $92.33 

1-509-03-510 .125 DIA X .750 LG DOWEL PINN PIC D5-750 22 $0.13 

1-551-02-673 1-1/4-12 UNF X 5-3/4 DBL ENDD STUD A193-B7MQT HT 101 $23.89 

1-551-01-587 1-1/8-12 UNF X 4-3/8 DBL ENDD STUD A193-B7QT 15 $13.05 

0-RINGS

SCREWS / NUTS /BOLTS / PINS



For sales inquiry,
Usman Shiekh
Phone: +1 (281) 982-1187
Email: ushiekh@Daniel.com

Decades Proven. Field Chosen.™

Copyright © 2023 Daniel Measurement and Control. All rights reserved.
PAGE 25 OF 55

UPDATED 2/28/2023

Differential Pressure
DISCONTINUED PRODUCTS

Part Number Description Qty Unit 
Price

1-551-35-510 1-14 NS X 4-1/8 DBL END STUD A320 GR.L7M 44 $55.44 

1-551-01-910 1-5/8- 8 UN X 13 DBL END STUD A193-B7QT 26 $43.55 

1-551-01-905 1-5/8- 8 UN X 8-1/4 DBL END STUD A193-B7 26 $37.50 

1-509-03-024 3/16 X 1 CS HT STRAIGHT DOWEL PIN 63 $4.41 

1-551-05-355 3/4-10 UNC X 4-1/8 DBL END STUD A193-B7Q 57 $8.12 

1-551-06-370 3/4-16 UNF X 2-3/4 DBL END STUD A193-B7M 25 $61.38 

1-551-34-371 3/4-16 UNF X 2-7/8 DBL END STUD A320 GR.L7 15 $16.45 

1-551-06-372 3/4-16 UNF X 3 DBL END STUD A193-B7MQT H 26 $25.74 

1-551-34-374 3/4-16 UNF X 3-1/4 DBL END STUD A320 GR.L7 25 $34.98 

1-551-05-375 3/4-16 UNF X 3-3/8 DBL END STUD A193-B7Q 7 $19.14 

1-560-51-276 5/8-11 X 2 UNC MONEL SQ HD HALF DOG PT S 3 $97.68 

1-504-27-990 DOWEL PIN, STRAIGHT .093DIA X .375LG 303 5 $0.75 

1-504-01-440 PL CARRIER GUIDE PIN 1/2-20 X 8 ALL THD 23 $100.74 

1-504-01-443 PL CARRIER GUIDE PIN 1/2-20 X 8 ALL THD 26 $111.20 

1-504-01-461 PL CARRIER GUIDE PIN 3/4-16 X 4 316 ALL 18 $38.29 

1-504-01-438 PL CARRIER GUIDE PIN 3/4-16 X 7 ALL THD 26 $71.91 

1-504-01-434 PL CARRIER GUIDE PINS 1/2-20 X 4 ALL THD 23 $35.32 

150687-300 SCREW SET HEADLESS SS 5/16-18 UNC LENGTH 9 $290.03 

1-557-33-055 SCREW SLOTTED PAN HD SS 6-32 UNC X 3/8 LG 651 $0.01 

DAN-20069840 SCREW, SOCKET HEAD CAP, 1/4-20 UNC-2A X 20 $0.62 

DAN-20069836 SCREW, SOCKET HEAD CAP, 5/16-18 UNC-3A X 40 $20.67 

1-562-10-148 SPIROL PIN 1/8 X 1 LG 302SS 4 $0.18 

151456ML STUD 1-8 UNC-2A X SPECIAL A193 B7M 48 $51.22 

1-551-02-905 STUD DE (A193-B7MQT HT) (1-5/8-8 UN X 8- 26 $273.61 



For sales inquiry,
Usman Shiekh
Phone: +1 (281) 982-1187
Email: ushiekh@Daniel.com

Decades Proven. Field Chosen.™

Copyright © 2023 Daniel Measurement and Control. All rights reserved.
PAGE 26 OF 55

UPDATED 2/28/2023

Liquid Turbine Meter
SERIES 1500

Part Number Description Qty

TM1525-000007 DANIEL, SERIES 1500 TURBINE METER, 2.5 I 1

Liquid Turbine Meter
UNIVERSAL SPARE PARTS

Part Number Description Qty Unit 
Price

1-562-05-639 1/8 X 1-3/4 ANSI B18.8.1 18-8 SS COTTER 10 $0.16 

1-504-07-209 2-INOD X 5-INLG DURPHY VIAL F/2-IN METER 420 $0.65 

1-562-05-656 5/32 X 2 ANSI B18.8.1 18-8 SS COTTER PIN 88 $0.03 

1-562-03-513 5/8 BOLT SIZE MED SERIES 18-8SS WASHERS 5 $0.26 

1-504-07-200 7/8-INOD X 3-1/2-INLG DURPHY VIAL F/3/4- 1275 $0.28 

DAN-20073321 BRACKET FOR LME ELECTRONICS F/2 PREAMPS 13 $32.66 

157419-019 CARBON STEEL SWAGELOK TUBE FTG, MALE BRA 28 $16.51 

899-10-230-35 DRT-899 USB SERIAL ADAPTOR 1 $81.18 

1-504-07-215 DURPHY RED PLUG F/1-IN VIAL 22 $0.13 

1-504-07-221 DURPHY RED PLUG F/2" VIAL ½” OD 50 $0.26 

1-504-07-212 DURPHY RED PLUG F/7/8 IN VIAL 1374 $0.05 

DAN-20090415 ENCLOSURE STAHL JUNCTION BOX TYPE GUAX-1 8 $549.12 

1-360-00-027 END CAP,ALUMINUM SOLID, NO W30336X0022 379 $9.03 

DAN-30001385 LOCAL MOUNTED ENCLOSURE LIMATHERM MODEL 1 $155.51 

799-00-328-02 LTM 1200/1500 1-2.5-IN LME NMPL CAND 111 $3.04 

799-00-328-01IM LTM 1200/1500 1-2.5-IN LME NMPL INMETRO 2 $69.70 

899-00-328-02IM LTM 1200/1500 2.5-18-IN LME NMPL INMETRO 80 $10.84 

899-00-228-02PA LTM 1200/1500 2.5-18-IN NMPL CE(PED/ATEX 15 $11.56 

899-00-228-02A LTM 1200/1500 2.5-18-IN NMPL CE(SEP/ATEX 4 $20.67 

CA-375Z-259-XXA LTM 1200/1500 GSKT OGM UMB 43 $3.71 

799-00-328-00IM LTM 1200/1500 WARNING PLATE LME/RME INME 58 $10.64 

899-00-228-04 LTM 1200/1500 WARNING TAG HAZ LOC 100 $5.58 

899-00-728-02 LTM1500 3-24-IN LME NMPLT HI-TEMP UL/CUL 71 $8.71 



For sales inquiry,
Usman Shiekh
Phone: +1 (281) 982-1187
Email: ushiekh@Daniel.com

Decades Proven. Field Chosen.™

Copyright © 2023 Daniel Measurement and Control. All rights reserved.
PAGE 27 OF 55

UPDATED 2/28/2023

Liquid Turbine Meter
UNIVERSAL SPARE PARTS

Part Number Description Qty Unit 
Price

153918 PIN COTTER SS 1955 $0.07 

153931 PIN COTTER, 3/32 X 3/4, 300 SERIES SS, S 1545 $0.05 

1-504-05-039 RIM INSERT, NON-PASSIVATED, NPS 16-24, S 500 $3.93 

1-504-05-034 RIM INSERT, NON-PASSIVATED, NPS8, SERIES 1000 $3.93 

894-29-019-01 ROTOR HUB SST 1 $166.06 

W894-20-319-00 ROTOR TURBO 003-IN HUB MATL:S.S. 1 $744.95 

899-00-628-02PA SER.1500 TURBINE NAMEPLATE HI-TEMP 1 $10.30 

894-16-079-00 SHAFT 2 $221.76 

1-504-05-359 SPADE CRIMP TYPE FLG FORK RED 22-16/6 HO 1382 $0.15 

894-26-062-00 THRUST WASHER 9 $114.01 

1-504-05-255 TOLERANCE RING AN181100M1 K-MONEL 31 $44.68 

1-504-05-256 TOLERANCE RING AN200037M1 K-MONEL 29 $69.63 

1-504-05-594 1 WF METER .125 OD BALL TUNGG CARBIDE 7 $5.97 

1-504-05-596 1-1/2 & 2 WF METER .156 OD BALL TUNG CAR 3 $4.14 

1-601-21-104 1-1/2 HANGAR CASTING 316/316L DUAL-CERTI 1 $139.41 

1-504-07-206 1-1/2-INOD X 5-INLG DURPHY VIAL F/1-1/2- 123 $1.24 

1-504-05-519 1-IN PT METER SPRING CLIP 316SS 154 $1.37 

1-504-05-524 2 HANGER RETAINER RING - FASTENAL NO. 10 1 $9.74 

1-601-21-015 2 ROTOR CASTING 17-4 PH TURBINE METER CA 3 $137.79 

DAN-20061860 2 ROTOR SHAFT PT METER 316SS W/HARD CHRO 1 $244.50 

799-16-391-62M LTM1500 NPS 2 (DN 50) CLASS 900/1500 ANS 2 $966.62 

1” - 2”



For sales inquiry,
Usman Shiekh
Phone: +1 (281) 982-1187
Email: ushiekh@Daniel.com

Decades Proven. Field Chosen.™

Copyright © 2023 Daniel Measurement and Control. All rights reserved.
PAGE 28 OF 55

UPDATED 2/28/2023

Liquid Turbine Meter
UNIVERSAL SPARE PARTS

Part Number Description Qty Unit 
Price

1-307-10-448 [K] 6 150-2500 U/S CONE 316SS S-C METER 8 $143.36 

1-504-05-632N 6-INROTOR SHAFT PTM 316SS W/HARD CHROME 1 $1,947.00 

1-604-10-538 8 PT BLADE BLANK 316/316L SS DUAL-CERTIF 80 $19.75 

1-602-04-340 8 PT RIM MATL CAST 316SS TOO FINISH TO 7 66 $93.56 

DAN-20079175 LITE WEIGHT ROTOR BLADE 8-IN SERIES 1500 2 $56.76 

899-00-328-03 LTM 1200 3-4-IN LME NMPL MC, MEX 114 $6.40 

799-20-315-12M LTM1500 NPS 3 (DN 80) CLASS 150 ANSI RF 4 $587.50 

799-20-332-12M LTM1500 NPS 3 (DN 80) CLASS 300 ANSI RF 1 $464.70 

799-26-333-62M LTM1500 NPS 8 (DN 200) CLASS 300 ANSI RF 2 $2,573.90 

DAN-30000366 OSP LTM CAL AT EUROLOOP 4 IN CL150 RF AN 2 $4,037.31 

DAN-30000101 10 IN 150 LTM ANSI RF RT-UNI SNGL LME CS 1 $1,438.65 

DAN-20079740 12 150-2500 D/S CONE 316/316L SS S-C MET 2 $246.39 

DAN-20072957 12 PT RIM MATL A182 316 / 316L SS (DUAL 9 $51.64 

1-602-04-300 12 PT RIM MATL CAST 304SS TOO FINISH TO 121.688 $82.58 

1-602-04-350 12 PT RIM MATL CAST 316SS TO FINISH TO 1 33.538 $49.05 

DAN-20079737 12 PT RIM MATL FORGING 316/316L SS TO FI 42 $193.38 

1-504-05-293 16 BRG & JRNL SET (W/O GROOVES) PT METER 20 $907.39 

1-504-05-122 16 CARBIDE THRUST WASHER PTM 32 $154.15 

1-602-04-305 16 PT RIM MATL CAST 304SS TFT 15.000 O.D 94 $107.80 

1-602-04-360 16 PT RIM MATL CAST 316SS TOO FINISH TO 53.5 $146.57 

1-504-05-652 16-INROTOR SHAFT PTM 17-4 SS N/S 8 $2,095.50 

1-504-05-294 18 BRG & JRNL SET (W/O GROOVES) PT METER 6 $1,329.09 

1-602-04-311 18 PT RIM MATL CAST 316SS TOO FINISH TO 29 $71.46 

1-504-05-657 18-INROTOR SHAFT PTM 17-4 SS N/S 2 $1,441.44 

3” - 8”

10” and Above



For sales inquiry,
Usman Shiekh
Phone: +1 (281) 982-1187
Email: ushiekh@Daniel.com

Decades Proven. Field Chosen.™

Copyright © 2023 Daniel Measurement and Control. All rights reserved.
PAGE 29 OF 55

UPDATED 2/28/2023

Liquid Turbine Meter
DISCONTINUED PRODUCTS

Part Number Description Qty Unit 
Price

1-307-10-222 1 125-2500 UPSTREAM 316S CON 16 $32.40 

1-307-11-090 1-1/2 BT ROTOR 304SS HUB 6-4300 BL@27DEG 3 $395.68 

1-562-05-605 1/16 X 1/2 ANSI B18.8.1 18-88 SS COTTER 19 $0.03 

1-562-05-601 1/32-IN X 1/2-IN ANSI B18.8.1 18-8SS COT 33 $0.09 

1-562-01-173 1/4 B SIZE WASH FLAT .256 ID SEASTROM570 12 $1.11 

799-29-007-00 10-IN SERIES 1500 TURBINE METER LITE WEI 1 $38.04 

799-00-228-00IM 1500 SERIES TUR WARNING PLATE INMETRO 1 $46.27 

SO534042-306 2 125-2500 UPSTREAM HASTELLO FOR 8 BL @ 2 $127.50 

1-307-20-321 2-150-1500 BRG SPACER OUTER F/LUB ELECT 8 $113.53 

1-321-90-011 2-IN SUBSEA COIL BOSS MOUNT FLANGE 316SS 1 $584.12 

1-602-04-315 20 PT RIM MATL CAST 304SS OD:19.600-IN I 26.5 $70.59 

798-20-318-01 3-IN 1200 SER TURBINE SHAFT KIT 2 $68.22 

1-307-20-185 4 125-600 ELEC-MECH ALIGNMENT PIN 12 $10.15 

899-10-230-64 6-32 X .25 MACHINE SCREW W/ LO 134 $0.16 

799-24-431-02 6-IN SER 1500 INTERNAL ASSY RT,BI-DIR,LI 1 $2,660.82 

DAN-20080731 6-INROTOR SHAFT PTM 316/316L SS DUAL-CER 1 $510.79 

1-602-04-070 8 150/400 TM BDY 316 CENT CAST TFT 8.57 1 $1,329.24 

798-00-002-00 BEARING - SHAMBAN 10 $298.53 

DAN-20084574 BRACKET FOR LME ELECTRONICS F/2 PREAMPS 6 $71.35 

799-00-424-00 CLAMP 48 $42.90 

1-504-05-418 COIL BOSS 1-IN PT METER 304SS 5 $27.06 

153907-419 COTTER PIN 1/16X3/4 ST STL 110 $1.16 

1-504-05-363 CRIMP STYLE CONNECTOR SOCKETT WALDOM 02 57 $0.09 

1-504-05-461 CROUSE-HINDS BOX GUAC-36-SA 2 $48.27 

1-3-9008-011 DANIEL PT LIQUID TURBINE METERS ~ 3 INCH 25 $1.39 

894-37-009-17M FLOWTUBE ROUGH CUT, SEAMLESS PIPE, 20 IN 1 $1,778.70 

799-29-028-77M FLOWTUBE ROUGH FORGE PIPE 10 IN OD: 11.9 1 $2,442.00 

899-00-600-04 HIGH TEMP MOUNTING BRACKET 20 $18.93 

894-07-390-00 INLET DIFFUSER ASSY 1 $242.93 

899-00-228-02IM LIQ TUR NAMEPLATE INMETRO 118 $5.60 



For sales inquiry,
Usman Shiekh
Phone: +1 (281) 982-1187
Email: ushiekh@Daniel.com

Decades Proven. Field Chosen.™

Copyright © 2023 Daniel Measurement and Control. All rights reserved.
PAGE 30 OF 55

UPDATED 2/28/2023

Liquid Turbine Meter
DISCONTINUED PRODUCTS

Part Number Description Qty Unit 
Price

798-20-400-00 LTM 1200 3-IN PICK-OFF CLAMP 43 $3.21 

798-20-400-01 LTM 1200 3-IN PICK-OFF INSULATOR 32 $6.60 

798-22-312-11M LTM 1200 4-IN 150-LB HSG CS 1 $486.28 

799-00-228-01A LTM 1200/1500 1-2-IN NMPL CE(SEP/ATEX) 7 $3.99 

799-00-414-01 LTM 1200/1500 1-IN PO INSULATOR 95 $0.92 

799-00-416-00 LTM 1200/1500 2-IN PO CLAMP 34 $3.63 

799-00-416-01 LTM 1200/1500 2-IN PO INSULATOR 46 $1.41 

159555-365A LTM 1200/1500 HOOKUP MRT 97 INT MOUNT (W 4 $176.94 

799-00-414-00 LTM 1200/1500 PO CLAMP 7 $4.29 

899-00-100-70 LTM 1200/1500 UMB CAST ATEX 629 $34.36 

899-00-101-70 LTM 1200/1500 UMB COVER CAST ATEX 72 $18.44 

899-00-100-00 LTM 1200/1500 UMB MACH ATEX 28 $54.16 

899-00-228-04IM LTM 1200/1500 WARNING TAG HAZ LOC INMETR 11 $5.19 

799-00-728-01IM LTM1500 1-2.5-IN LME NMPLT HI-TEMP UL/CU 4 $69.70 

899-00-728-02IM LTM1500 3-24-IN LME NMPLT HI-TEMP UL/CUL 5 $85.71 

799-31-312-12P LTM1500 NPS 12 (DN 300) CLASS 150 ANSI R 1 $2,022.85 

799-20-314-62M LTM1500 NPS 3 (DN 80) CLASS 150 ANSI RF 1 $797.28 

799-24-315-62M LTM1500 NPS 6 (DN 150) CLASS 150 ANSI RF 2 $1,594.84 

1-3-9008-505 MAN, DANIEL PARITY TURBINE MTR PREAMP AS 207 $18.94 

1-3-9008-513 MANUAL FOR SERIES 1200 LIQUID TURBINE ME 39 $7.00 

1-3-9008-507 MANUAL FOR SERIES 1500 LIQUID TURBINE ME 10 $7.18 

1-3-9008-515 MANUAL FOR SERIES 1500 LIQUID TURBINE ME 76 $7.18 

1-504-05-478 MRT 97 BATTERY SAFT C LS26500 BA LITHIUM 65 $27.72 

894-00-228-02 NAME PLATE-3-IN-30-IN TURBO MTR 140 $1.36 

894-26-027-60M PAD SLUG:PARITY TURBINE 6 $7.10 

899-00-200-01 PICKOFF-HIGH TEMP. UMB TURBI 10 $231.00 

899-00-200-00 PICKOFF-STANDARD UMB TURBINE USE 899-00- 75 $19.15 

153910-419 PIN COTTER 1/16X1-INLG STSTL 2528 $0.03 

1-508-01-250 PT 3-24-IN UL I.D. PLATE F/ TURBINE METE 75 $3.56 

1-508-01-251 PT TURBINE METER - PATENT TAG SELF-CENTE 18 $2.77 

799-00-228-09 REMOTE MOUNTING BOX NAMEPLATE 12 $34.65 



For sales inquiry,
Usman Shiekh
Phone: +1 (281) 982-1187
Email: ushiekh@Daniel.com

Decades Proven. Field Chosen.™

Copyright © 2023 Daniel Measurement and Control. All rights reserved.
PAGE 31 OF 55

UPDATED 2/28/2023

Liquid Turbine Meter
DISCONTINUED PRODUCTS

Part Number Description Qty Unit 
Price

W894-07-319-00 ROTOR TURBO .75-IN HUB MATL:S.S. 1 $362.76 

1-504-05-822 TRU-ARC 5101-150-H RETAINER RING 12 ELEC 92 $12.54 

799-00-457-60M UMB REMOTE MNT-MOUNTING PAD 10 $76.45 

Liquid Turbine Meter
GAS TURBINE METER

Part Number Description Qty Unit 
Price

1-504-05-955 4-6 125-600 LOCK WASHER ALUMM GAS METER 50 $56.34 

1-307-25-725 4 150-600 BODY COVER PLT GTMM W/PIN BOSS 4 $896.76 

1-504-05-940 2 TO 12 125-1500 ELECT GTM ALNICO 8 MAGN 252 $6.18 

1-307-20-246 12 150-600 HC GTM ALUM ROTOR 1 $1,462.56 

1-504-53-248 IN IN X 1 IN MGTM ROTOR BLANK 430SS IN 19 $43.59 

1-307-20-663 4-12-125-900 GTM BOSS SPACERR 303SS 9 $75.54 

1-307-20-835 4 150-600 EGTM COV PLT FTG-TUBE ASSY DUA 4 $143.10 

1-307-21-661 4-12 125-900 GTM HERMETIC SEALED BOSS W/ 5 $100.18 

1-307-25-220 4 125 BODY COVER PLT ALUM EGTM W/PIN BOS 1 $471.57 

1-307-21-660 4-12 125-900 GTM HERMETIC SEALED BOSS BO 4 $100.18 

1-307-26-665 6 125 GTM COIL COVER-TUBE ASSY 304SS SEA 2 $150.72 

1-307-25-762 12 300 BODY COVER PLT EGTM W/PIN BOSS DU 1 $301.37 

1-504-15-015 4-6 COIL COVER END CAP SCREW GTM DUAL CO 126 $2.38 

1-307-26-649 4 125 EGTM COIL COVER-TUBE ASSY 304SS SE 1 $236.28 

1-504-15-025 4 - 8 COIL HOLDDOWN BRACKET 6061ALUM GTM 27 $8.49 

1-504-53-010 2-IN 150/600-LB MINI GAS TBN METER RET R 195 $2.97 

1-504-05-956 8 125-1500 LOCK WASHER ALUM GAS METER 34 $95.81 

1-504-05-44R GAS METER COIL PLUG ASSY RED 1 $23.29 

1-307-20-241 4 125-900 ELECT GAS TURBINE ALUM ROTOR 2 $624.19 

1-601-60-110 DIFFUSER 2-IN WAFER GAS TURBINE METER 31 4 $141.93 

1-307-20-295 12 150-600 ELECT GAS TURB LOCK WASHER AL 43 $114.64 

1-213-04-012 LO2 GAS TURBINE LUB OIL 2 OZ. 17 $14.25 



For sales inquiry,
Usman Shiekh
Phone: +1 (281) 982-1187
Email: ushiekh@Daniel.com

Decades Proven. Field Chosen.™

Copyright © 2023 Daniel Measurement and Control. All rights reserved.
PAGE 32 OF 55

UPDATED 2/28/2023

Liquid Turbine Meter
CRA METER

Part Number Description Qty Unit 
Price

1-608-01-061 1 CRA HANGER MOLDED RYTON NO. IPC RX-530 73 $39.60 

1-307-12-063 1-1/2 CR MACHINED HANGER 316SS 1 $172.43 

1-608-01-064 1-1/2-INCRA HANGER MOLDED RYTON NO. IPC 17 $71.28 

1-608-01-066 2-IN CRA HANGER MOLDED RYTON NO. IPC RX- 39 $53.99 

1-504-05-555 3/4-IN THRU 2-IN CRA ROTOR SHAFTT VC-099 12 $78.46 

1-508-01-080 CRA NAMEPLATE 304SS (CSA) 3/4 & 1-IN THD 31 $1.94 

1-508-01-082 CRA NAMEPLATE 304SS (CSA) ALL FLGD & 1-1 28 $6.59 



For sales inquiry,
Usman Shiekh
Phone: +1 (281) 982-1187
Email: ushiekh@Daniel.com

Decades Proven. Field Chosen.™

Copyright © 2023 Daniel Measurement and Control. All rights reserved.
PAGE 33 OF 55

UPDATED 2/28/2023

Control Valves
PILOTS AND SPARE PARTS

Part Number Description Qty Unit 
Price

456910-6E5 1710 PILOT SS KAL 24VDC T3 ATEX 2 $1,628.84 

DAN-20060713 1711 PILOT SS KAL/NIT 24VDC T3 (456960-6 8 $1,350.40 

DAN-20063974 1714 N.O. PILOT SIMREZ SEALS 230 VAC ATE 20 $713.04 

458815-026 1714 N.O. PILOT TEFLON SEALS 240/60 VAC 6 $316.87 

458815-512 1714 N.O. PILOT VITON SEALS 110-50 VAC A 36 $648.34 

458815-022 1714 N.O. PILOT VITON SEALS 240/60 VAC 205 $316.87 

458800-026 1715 N.C. PILOT TEFLON SEALS 240/60,220/ 6 $131.95 

458800-512 1715 N.C. PILOT VITON SEALS 110/50 VAC A 46 $443.80 

458800-022 1715 N.C. PILOT VITON SEALS 220/50,240/6 201 $116.41 

453151-100 2-IN PRESSURE REDUCING PILOT - BODY - MA 4 $200.64 

453151-170 2-IN PRESSURE REDUCING PILOT - BODY ROUG 5 $175.56 

456810-080 ASCO NC SOLENOID 24 VDC BUNA 30 $178.49 

456810-082 ASCO NC SOLENOID 24 VDC VITON 25 $188.28 

478935-027 ASCO NO SOLEN'D 240/220VAC EPR 1 $190.94 

478935-080 ASCO NO SOLENOID 24 VDC BUNA 25 $202.40 

453101-100 BODY PILOT ALUM 20 $498.14 

453101-170 EXT-PILOT VAL BODY A ROUGH 31 $166.32 

460650-100 G PILOT, ON-OFF 5 $191.66 

456910-61M PILOT 1710 SS VX065-75 110/120VAC 2 $850.44 

456910-511 PILOT 1710STL VIT-DY120/110VAC 1 $797.97 

456960-527 PILOT 1711 STL 240/220 VAC EPR 1 $894.83 

456960-511 PILOT 1711STL VIT-DY120/110VAC 1 $864.51 

453700-612 PILOT 1754,SS,0-20,VITON-A 1 $929.31 

453200-52G PILOT 1760 CS 0-40 PSI VITON GFLT 1 $857.06 

465100-555 PILOT 2760 STL KAL 900-1500 1 $2,232.24 

460651-100 PILOT BODY ALUM 16 $61.42 

460351-100 PILOT BODY ALUM 1 $148.59 

460640-114 PILOT G-2 6 $160.52 



For sales inquiry,
Usman Shiekh
Phone: +1 (281) 982-1187
Email: ushiekh@Daniel.com

Decades Proven. Field Chosen.™

Copyright © 2023 Daniel Measurement and Control. All rights reserved.
PAGE 34 OF 55

UPDATED 2/28/2023

Control Valves
VALVES/PILOTS SPARE PARTS

Part Number Description Qty Unit 
Price

152067-027 [K] O-RING -011 PARKER V1163 GFLT 75 DUR 266 $16.41 

660124-600 16 IN PISTON 17 4 PH SS 1 $6,372.90 

DAN-20058789 2 INCH SPRING COVER CV 707 10 $214.50 

DAN-20054313 2-344 .210 X 3-7/8 X 4-1/4 O-RING 70 DUR 29 $28.51 

520754-590M 2-IN 150/300-LB NITRO CYL HD ASSY 1 $412.92 

DAN-20062176 2-IN SPRING GUIDE CV707 15 $55.44 

526056-510M 2-INHI PRESS AP CYL HD 2 $197.75 

520024-691 2-INPISTON-NITROGEN RELIEF 11 $74.67 

DAN-20062131 3 INCH SPRING COVER CV 707 20 $291.72 

1-530183-690 3-ININDICATOR STEM 16 $8.22 

SP15027 3/4-TAPERED PLSTC PLUG 4 $0.05 

1-157546 3/8-IN TUBING SEAMLESS .035-IN WALL THK 7500 $0.21 

530057-100 3IN PISTON 8 $83.10 

446205 4 INCH SPRING COVER CV 707 5 $243.54 

543055-692 4-IN300-LB NO IND(STD PISTON) 1 $1,877.34 

540183-691 4-ININDICATOR STEM W/SWITCHES 11 $234.96 

500406-070 41/2 COVER 2-IN3-IN VALVE ROUGH 46 $12.46 

500411-170 41/2 PISTON 2-IN3-IN VALVE ROUGH 23 $174.24 

566056-510N 6 INCH HI PRESS AP CYL HD NACE 2 $389.09 

560854-590M 6-IN 150/300-LB NITRO CYL HD ASSY 2 $520.50 

566854-590M 6-IN 600-LB NITRO CYL HD ASSY 3 $692.12 

500601-470M 6-IN HOUSING 4-IN 6-IN VALVE ROUGH 1 $48.26 

500611-170 6-IN MOTOR PISTON FOR 4-IN - 6-IN VALVES 2 $245.52 

560183-691 6-ININDICATOR STEM 8 $257.40 
586471-500L 8-IN 600-LBM CYLINDER AP LOW TEMP SERVIC 1 $5,951.25 
580754-590N 8-IN150/300-LB NITROGEN RELIEF CYLINDER 1 $829.79 

586854-510 8IN CYL HD ASSY 600-LB AP WITH MTR 1 $989.65 

586754-510N 8IN CYL HD ASSY 600-LB NACE WITH MTR,AP 1 $1,125.18 

157172 BACK-UP RING TEFLON 21 $8.77 

157199 BACK-UP RING TEFLON 10-IN VALVE THICK:.1 2 $369.52 

157207 BACK-UP RING TEFLON 2 TURNS THICK:.025/. 1 $63.20 



For sales inquiry,
Usman Shiekh
Phone: +1 (281) 982-1187
Email: ushiekh@Daniel.com

Decades Proven. Field Chosen.™

Copyright © 2023 Daniel Measurement and Control. All rights reserved.
PAGE 35 OF 55

UPDATED 2/28/2023

Control Valves
VALVES/PILOTS SPARE PARTS

Part Number Description Qty Unit 
Price

157186 BACK-UP RING TEFLON 3-IN VALVE 196 $49.80 

157196 BACK-UP RING TEFLON 4-IN VALVE 49 $50.77 

157197 BACK-UP RING TEFLON 6-IN VALVE THICK:.10 48 $120.62 

157187 BACK-UP RING TEFLON THICK: .045/.052   W 184 $39.93 

159652 BAL-SEAL W:.260 ID:11.832 OD:12.356 13 $804.66 

159651 BAL-SEAL W:.266 ID:7.367 OD:7.902 MATL:T 3 $96.48 

159805 BAL-SEAL, MATL:TURCON 52, W:.260 ID:9.85 3 $348.48 

530054 BUMPER 3-IN VALVE BUNA-N 2 $29.32 

540054 BUMPER 4-IN VALVE BUNA-N 1 $29.38 

560054 BUMPER 6-IN VALVE BUNA-N 5 $29.65 

456201 BUSH 303 GUIDE FOR 1760 1 $55.91 

456202 CAGE PILOT VALVE 1 $145.58 

460356-170 CAP-SURGE PILOT ROUGH 1 $1,650.00 

460375 CHECK PLATE ASM 17 $233.47 

DAN-20068507 CHECK VALVE PLATE 11/2 A108 GR1018 NACE 2 $158.42 

620045-701 CHECK VLV ASSY 12 IN 1 $124.73 

478953-005 CORE ASSEMBLY KALREZ 11 $90.05 

460006-100 COVER 13 $132.88 

460206-170 COVER ALUM ROUGH 19 $265.32 

DAN-20080034 CUSTOMIZED BOX FOR VALVE SEAT SPARE PART 25 $20.06 

620056-510M CYL HEAD 12-IN AP 1 $1,062.36 

DAN-20077276 CYL HEAD BLANK NITROGEN CV 6IN 600 A516 1 $687.15 

530022-575ML CYL HEAD BLANK, 3-IN AP VLV, 5-7/8-INOD 1 $25.81 

606056-575N CYLINDER HD-BLANK NPS 10 CLASS 600 PED N 3 $586.08 

620056-575ML CYLINDER HD-BLANK NPS 12 CLASS 150 PED A 1 $462.00 

620056-575N CYLINDER HD-BLANK NPS 12 CLASS 150 PED N 10 $462.00 

666222-570N CYLINDER HD-BLANK NPS 16 CLASS 600 PED A 1 $1,478.40 

DAN-20062341 CYLINDER HD-BLANK NPS 2 CLASS 150/300 PE 10 $24.22 

526056-070M CYLINDER HD-BLANK NPS 2 CLASS 600 PED AS 4 $33.40 

530022-575N CYLINDER HD-BLANK NPS 3 CLASS 150 PED NA 11 $25.81 

540022-575N CYLINDER HD-BLANK NPS 4 CLASS 150 PED NA 16 $40.52 



For sales inquiry,
Usman Shiekh
Phone: +1 (281) 982-1187
Email: ushiekh@Daniel.com

Decades Proven. Field Chosen.™

Copyright © 2023 Daniel Measurement and Control. All rights reserved.
PAGE 36 OF 55

UPDATED 2/28/2023

Control Valves
VALVES/PILOTS SPARE PARTS

Part Number Description Qty Unit 
Price

560056-575N CYLINDER HD-BLANK NPS 6 CLASS 150 PED NA 5 $71.02 

580056-575M CYLINDER HD-BLANK NPS 8 CLASS 150 PED AS 14 $151.80 

580056-575N CYLINDER HD-BLANK NPS 8 CLASS 150 PED NA 1 $151.80 

DAN-20070536 CYLINDER WELD RING ROUGH WATER JET CUT P 2 $7,741.19 

DAN-20060401 DASH NO. 2-441 .275 X 7 X 1-1/2 O-RING 7 4 $57.21 

154540 DECAL PILOT VALVE 51 $4.86 

154529 DECAL PILOT VALVE 42 $4.86 

154547 DECAL POWER OPERATED PILOT 22 $2.40 

460649-122 DIAPHRAGM BUTTON 12 $103.44 

453152-100 DIAPHRAGM COVER 8 $232.42 

478801-070 DIAPHRAGM PLATE ROUGH 3 $109.56 

453159-100 DIAPHRAGM WASHER ALUM 124 $6.04 

460359 DIAPHRAGM, VITON 30 $125.95 

456991 DISC SOLENOID KALREZ 44 $336.60 

456992-022 DISCHOLDER ASSY-VITON 464 $0.01 

1-153991 EASY-DRIVE SCREW TYPE U SIZE 0 X .187 RD 406 $0.03 

159071 GASKET FOR 2-IN VALVE 10 $6.51 

157168 GLYD RING OUTSIDE T W:.271/.276 ID:3.100 34 $193.60 

157146 GLYD RING OUTSIDE W:0.178/0.182 ID:2-3/8 14 $57.59 

1505170 HEX HEAD SCREW M4 X .7-6H LENGTH:4 MM FI 3 $0.09 

501208 INDICATOR GLAND RING 2 $6.73 

500631 INDICATOR SHAFT 11 $78.22 

500415 INDICATOR SHAFT ASM 1 $87.60 

156460 INT RETAINING RING, 316SS, FREE OUTSIDE 8 $4.88 

156459 INTERNAL RETAINING RING, SS, FREE OUTSID 33 $16.50 

1-604-10-011 M. S. RING COMPRESSION SPRING STOCK 300 12 $7.92 

1-3-9008-552 MAN,MODEL 700 SERIES CONTROL VALVES SIZE 3 $0.99 

1-3-9008-561 MODEL 750 DOWNSTREAM PRESSURE REDUCING V 10 $3.30 

500412 MOTOR PISTON BUSHING 13 $99.66 

460696 NAME PLATE- G-2 PILOT 26 $8.58 

478929 NAME PLATE-PILOT 162 $0.92 



For sales inquiry,
Usman Shiekh
Phone: +1 (281) 982-1187
Email: ushiekh@Daniel.com

Decades Proven. Field Chosen.™

Copyright © 2023 Daniel Measurement and Control. All rights reserved.
PAGE 37 OF 55

UPDATED 2/28/2023

Control Valves
VALVES/PILOTS SPARE PARTS

Part Number Description Qty Unit 
Price

460659 NAMEPLATE-ON/OFF PILOT B-A F 241 $0.33 

158304-419 NEEDLE VALVE 1/2-IN 316SS 32 $198.00 

460385-527 NEEDLE VALVE ASSY STL EPR 2 $103.77 

460386 NEEDLE VALVE BODY 3/8 NPT .1875 BORE B21 2 $23.80 

460710-507 NEEDLE VALVE/STRAINER COMB EPR 1 $264.63 

460366 NEEDLE VLV RETAINER 1 $87.90 

580083 NPS 16 CLASS 150-600 INDICATOR EXT GUARD 1 $66.28 

151645 NUT CASTELLATED,SLOT,HEX CS 43 $0.07 

151558N NUT HEAVY HEX 3/4-10 UNC-2B A194 GR 2HM 10 $1.12 

151533-419 NUT HEX 300 SERIES SS 10-32 UNF HI 1/8 2 $0.04 

151525 NUT HEX 300 SERIES SS 4-40 UNC HI 3/32 32 $0.01 

151532-019 NUT HEX SS DIA:10 TPI:24 HT:1/8 WF:3/8 73 $0.09 

157009 O-RING  -212 PARKER N0674 BUNA 70 DURO I 28 $0.95 

152062-075 O-RING -006 DUPONT 4079 FFKM 75 DURO ID: 20 $23.65 

152062-005 O-RING -006 PARKER E0540 EPR 70 DURO ID: 54 $0.13 

152062-120 O-RING -006 PARKER N0497 LOW SWELL NITRI 89 $0.49 

152062 O-RING -006 PARKER N0674 BUNA 70 DURO ID 288 $0.07 

152062-114 O-RING -006 PARKER NM072 NBR 70 DURO ID: 2 $14.65 

152062-027 O-RING -006 PARKER V1163 GFLT 75 DURO ID 33 $1.33 

DAN-20060999 O-RING -006 PARKER VX065 FKM 75 DURO ID: 153 $0.95 

152062-029 O-RING -006 PARKER VX065 FKM 75 DURO ID: 820 $0.92 

152064-116 O-RING -008 PARKER C0873 CR 70 DURO ID: 233 $0.25 

152064-005 O-RING -008 PARKER E0540 EPR 70 DURO ID: 49 $0.16 

152064 O-RING -008 PARKER N0674 BUNA 70 DURO ID 110 $0.74 

152064-114 O-RING -008 PARKER NM072 NBR 70 DURO ID: 38 $0.59 

152064-027 O-RING -008 PARKER V1163 GFLT 75 DURO ID 107 $151.01 

152064-029 O-RING -008 PARKER VX065 FKM 75 DURO ID: 38 $3.78 

157068-075 O-RING -009 DUPONT 4079 FFKM 75 DURO ID: 2 $37.34 

157068 O-RING -009 PARKER N0674 BUNA 70 DURO BL 1194 $1.19 

157068-022 O-RING -009 PARKER V747 FKM 75 DURO BLAC 2417 $0.38 

152066-116 O-RING -010  PARKER C0873 CR 70 DURO ID: 102 $0.59 



For sales inquiry,
Usman Shiekh
Phone: +1 (281) 982-1187
Email: ushiekh@Daniel.com

Decades Proven. Field Chosen.™

Copyright © 2023 Daniel Measurement and Control. All rights reserved.
PAGE 38 OF 55

UPDATED 2/28/2023

Control Valves
VALVES/PILOTS SPARE PARTS

Part Number Description Qty Unit 
Price

152066 O-RING -010 PARKER N0674 BUNA 70 DURO ID 250 $0.25 

152066-027 O-RING -010 PARKER V1163 GFLT 75 DURO ID 166 $1.52 

152066-029 O-RING -010 PARKER VX065 FKM 75 DURO ID: 971 $1.23 

152067-116 O-RING -011  PARKER C0873 CR 70 DURO ID: 4679 $0.17 

152067-005 O-RING -011 PARKER E0540 EPR 70 DURO ID: 154 $0.34 

152067 O-RING -011 PARKER N0674 BUNA 70 DURO BL 21 $0.74 

152086-075 O-RING -012 DUPONT 4079 FFKM 75 DURO ID: 30 $41.04 

152086-120 O-RING -012 PARKER N0497 NBR 70 DURO ID: 3 $4.73 

152086 O-RING -012 PARKER N0674 BUNA 70 DURO ID 18 $0.29 

152086-027 O-RING -012 PARKER V1163 GFLT 75 DURO ID 992 $1.58 

157063-075 O-RING -014 DUPONT 4079 FFKM 75 DURO ID: 48 $28.58 

157063-022 O-RING -014 PARKER V747 FKM 75 DURO ID: 206 $0.40 

157109-022 O-RING -017 PARKER V747 FKM 75 DURO ID: 330 $0.50 

157103 O-RING -019 PARKER N0674 BUNA 70 DURO ID 6 $3.00 

157103-022 O-RING -019 PARKER V747 FKM 75 DURO ID: 114 $57.59 

152050-022 O-RING -020 PARKER V747 FKM 75 DURO ID: 213 $0.55 

157034-075 O-RING -021 DUPONT 4079 FFKM 75 DURO ID: 11 $39.98 

157034-120 O-RING -021 PARKER N0497 NBR 70 DURO ID: 104 $0.42 

157034 O-RING -021 PARKER N0674 BUNA 70 DURO BL 1135 $0.21 

157034-029 O-RING -021 PARKER VX065 FKM 75 DURO ID: 473 $2.67 

157098 O-RING -024 PARKER N0674 BUNA 70 DURO ID 91 $0.21 

157079-120 O-RING -029 PARKER N0479 NITRILE 70 DURO 1390 $0.63 

157079-022 O-RING -029 PARKER V747 FKM 75 DURO ID: 6 $1.29 

152096-005 O-RING -108 PARKER E0540 EPR 70 DURO ID: 2 $171.56 

152096-120 O-RING -108 PARKER N0497 LOW SWELL NITRI 197 $0.49 

152096 O-RING -108 PARKER N0674 BUNA 70 DURO ID 49 $1.20 

152096-027 O-RING -108 PARKER V1163 GFLT 75 DURO ID 668 $2.53 

152096-029 O-RING -108 PARKER VX065 FKM 75 DURO ID: 478 $1.77 

152076-075 O-RING -110 DUPONT 4079 FFKM 75 DURO ID: 11 $35.63 

152076 O-RING -110 PARKER N0674 BUNA 70 DURO ID 40 $0.63 

152076-027 O-RING -110 PARKER V1163 GFLT 75 DURO ID 422 $1.76 



For sales inquiry,
Usman Shiekh
Phone: +1 (281) 982-1187
Email: ushiekh@Daniel.com

Decades Proven. Field Chosen.™

Copyright © 2023 Daniel Measurement and Control. All rights reserved.
PAGE 39 OF 55

UPDATED 2/28/2023

Control Valves
VALVES/PILOTS SPARE PARTS

Part Number Description Qty Unit 
Price

152076-029 O-RING -110 PARKER VX065 FKM 75 DURO ID: 38 $2.85 

152070-120 O-RING -111 PARKER N0497 NBR 70 DURO ID: 28 $1.27 

152070 O-RING -111 PARKER N0674 BUNA 70 DURO BL 1450 $0.04 

152070-022 O-RING -111 PARKER V747 FKM75 DURO ID: 7 40 $0.53 

152071-075 O-RING -112 DUPONT 4079 FFKM 75 DURO ID: 14 $38.27 

152071-120 O-RING -112 LOW SWELL NITRILE PARKER N04 2530 $0.34 

152071 O-RING -112 PARKER N0674 BUNA 70 DURO ID 173 $0.38 

152071-029 O-RING -112 PARKER VX065 FKM 75 DURO ID: 771 $2.15 

157012-116 O-RING -113 PARKER C-873-70 NEOPRENE 70 1476 $0.32 

157012 O-RING -113 PARKER N0674 BUNA 70 DURO BL 494 $0.16 

157012-027 O-RING -113 PARKER V1163 GFLT 75 DURO ID 460 $3.10 

157012-029 O-RING -113 PARKER VX065 FKM 75 DURO BLA 28 $171.56 

152090-116 O-RING -114  PARKER C0873 CR 70 DURO ID: 1443 $0.38 

152090-120 O-RING -114 PARKER N0497 LOW SWELL NITRI 69 $8.87 

152090 O-RING -114 PARKER N0674 BUNA 70 DURO ID 439 $0.25 

152090-114 O-RING -114 PARKER NM072 NBR 70 DURO ID: 41 $1.65 

152090-027 O-RING -114 PARKER V1163 GFLT 75 DURO ID 352 $3.17 

152090-029 O-RING -114 PARKER VX065 FKM 75 DURO BLA 15 $171.56 

157024-075 O-RING -115 DUPONT 4079 FFKM 75 DURO ID: 14 $44.00 

157024 O-RING -115 PARKER N0674 BUNA 75 DURO ID 595 $0.11 

157024-027 O-RING -115 PARKER V1163 GFLT 75 DURO ID 345 $3.27 

157024-029 O-RING -115 PARKER VX065 FKM 75 DURO ID: 664 $2.47 

152087-120 O-RING -116 PARKER N0497 NBR 70 DURO ID: 1003 $0.34 

152087 O-RING -116 PARKER N0674 BUNA 70 DURO ID 8 $0.67 

SP17695 O-RING -118 PARKER N0674 BUNA 70 DUR ID: 97 $0.13 

152042-116 O-RING -120  PARKER C0873 CR 70 DURO ID: 12 $0.50 

152042-005 O-RING -120 PARKER E0540 EPR 70 DURO ID: 4 $0.21 

152042-120 O-RING -120 PARKER N0497 NBR 70 DURO ID: 85 $0.71 

152042 O-RING -120 PARKER N0674 BUNA 70 DURO ID 15 $0.77 

152042-027 O-RING -120 PARKER V1163 GFLT 75 DURO ID 167 $5.35 

152042-029 O-RING -120 PARKER VX065 FKM 75 DURO ID: 37 $171.56 



For sales inquiry,
Usman Shiekh
Phone: +1 (281) 982-1187
Email: ushiekh@Daniel.com

Decades Proven. Field Chosen.™

Copyright © 2023 Daniel Measurement and Control. All rights reserved.
PAGE 40 OF 55

UPDATED 2/28/2023

Control Valves
VALVES/PILOTS SPARE PARTS

Part Number Description Qty Unit 
Price

157350-022 O-RING -121 PARKER V747 FKM 75 DURO ID: 64 $1.08 

157078-022 O-RING -129 PARKER V747 FKM 75 DURO ID: 1 $11.02 

159670 O-RING -150 PARKER N0674 BUNA 70 DURO ID 3 $1.37 

159575-116 O-RING -151 PARKER C0873 CR 70 DURO ID: 14 $0.84 

159575 O-RING -151 PARKER N0674 BUNA 70 DURO ID 10 $0.53 

159575-029 O-RING -151 PARKER VX065 FKM 75 DURO ID: 68 $15.14 

DAN-20061031 O-RING -151 PARKER VX065 FKM 75 DURO ID: 10 $13.33 

152048-005 O-RING -208 PARKER E0540 EPR 70 DURO ID: 2449 $0.36 

152048-120 O-RING -208 PARKER N0497 NBR 70 DURO ID: 691 $0.88 

152068-120 O-RING -210 PARKER N0497 NBR 70 DURO ID: 1251 $0.34 

157009-120 O-RING -212 PARKER N0497 LOW SWELL NITRI 2375 $2.09 

157009-114 O-RING -212 PARKER NM072 NBR 70 DURO ID: 78 $0.81 

157009-027 O-RING -212 PARKER V1163 GFLT 75 DURO ID 109 $6.89 

157009-029 O-RING -212 PARKER VX065 FKM 75 DURO BLA 224 $5.78 

157010-120 O-RING -213 PARKER N0497 LOW SWELL NITRI 144 $0.63 

157010 O-RING -213 PARKER N0674 BUNA 70 DURO ID 391 $1.06 

157010-114 O-RING -213 PARKER NM072 NBR 70 DURO ID: 19 $1.58 

157010-027 O-RING -213 PARKER V1163 GFLT 75 DURO ID 158 $6.23 

157010-029 O-RING -213 PARKER VX065 FKM 75 DURO BLA 227 $6.10 

152091-116 O-RING -216  PARKER C0873 CR 70 DURO ID: 1868 $0.45 

152091-120 O-RING -216 PARKER N0497 LOW SWELL NITRI 4 $0.40 

152091-027 O-RING -216 PARKER V1163 GFLT 75 DURO ID 159 $10.64 

152091-029 O-RING -216 PARKER VX065 FKM 75 DURO ID: 8 $10.11 

152097-120 O-RING -218 PARKER N0497 NBR 70 DURO ID: 11 $70.13 

152097-022 O-RING -218 PARKER V747 FKM 75 DURO BLAC 34 $1.43 

152092-029 O-RING -222 PARKER VX065 FKM 75 DURO BLA 2 $14.12 

157029 O-RING -224 PARKER N0674 BUNA 75 DURO ID 108 $0.45 

157029-027 O-RING -224 PARKER V1163 GFLT 75 DURO ID 50 $17.07 

152073-116 O-RING -225  PARKER C0873 CR 70 DURO ID: 3 $2.06 

152073-005 O-RING -225 PARKER E0540 EPR 70 DURO ID: 8 $4.75 

152073-120 O-RING -225 PARKER N0497 LOW SWELL NITRI 44 $0.84 



For sales inquiry,
Usman Shiekh
Phone: +1 (281) 982-1187
Email: ushiekh@Daniel.com

Decades Proven. Field Chosen.™

Copyright © 2023 Daniel Measurement and Control. All rights reserved.
PAGE 41 OF 55

UPDATED 2/28/2023

Control Valves
VALVES/PILOTS SPARE PARTS

Part Number Description Qty Unit 
Price

152073 O-RING -225 PARKER N0674 BUNA 70 DURO BL 73 $0.53 

152073-027 O-RING -225 PARKER V1163 GFLT 75 DURO ID 93 $21.65 

152098-022 O-RING -226 PARKER V747 FKM 75 DURO ID: 48 $3.25 

157061-075 O-RING -227 DUPONT 4079 FFKM 75 DURO ID: 20 $236.58 

157061-120 O-RING -227 PARKER N0497 NBR 70 DURO ID: 723 $0.91 

157061-114 O-RING -227 PARKER NM072-70 NBR 70 DURO 44 $1.16 

157007-114 O-RING -228 PARKER NM072 NBR 70 DURO ID: 536 $1.33 

157007-022 O-RING -228 PARKER V747 FKM 75 DURO ID: 15 $3.62 

157011-116 O-RING -230 PARKER C-873-70 NEOPRENE 70 4 $3.76 

157011-120 O-RING -230 PARKER N0497 LOW SWELL NITRI 17 $2.01 

157011-114 O-RING -230 PARKER NM072 NBR 70 DURO ID: 36 $1.97 

157011-027 O-RING -230 PARKER V1163 GFLT 75 DURO ID 105 $151.01 

157000 O-RING -232 PARKER N0674 BUNA 70 DURO ID 17 $0.63 

152077-114 O-RING -239 PARKER NM072 NBR 70 DURO ID: 376 $2.49 

157032-116 O-RING -240  PARKER C0873 CR 70 DURO ID: 474 $2.64 

157032 O-RING -240 PARKER N0674 BUNA 70 DURO ID 39 $0.44 

157032-027 O-RING -240 PARKER V1163 GFLT 75 DURO ID 98 $32.92 

157032-029 O-RING -240 PARKER VX065 FKM 75 DURO ID: 30 $40.19 

DAN-20060892 O-RING -240 PARKER VX065 FKM 75 DURO ID: 2 $35.27 

152095-116 O-RING -242 PARKER C0873 CR 70 DURO ID: 23 $1.74 

152095 O-RING -242 PARKER N0674 BUNA 70 DURO ID 5 $1.16 

152094 O-RING -247 PARKER N0674 BUNA 70 DURO ID 41 $1.56 

152094-027 O-RING -247 PARKER V1163 GFLT 75 DURO ID 228 $54.45 

1-152094-022 O-RING -247 PARKER V747 FKM 75 DURO ID: 332 $7.08 

157026-022 O-RING -249 PARKER V747 FKM 75 DURO ID: 18 $11.93 

157106 O-RING -251 PARKER N0674 BUNA 70 DURO ID 50 $2.07 

157106-022 O-RING -251 PARKER V747 FKM 75 DURO ID: 18 $2.85 

159576-120 O-RING -255 PARKER N0497 NITRI 70 DUR ID 4 $7.21 

159576 O-RING -255 PARKER N0674 BUNA 70 DURO ID 17 $0.50 

159576-027 O-RING -255 PARKER V747 FKM 75 DURO ID: 4 $17.60 

157085 O-RING -258 PARKER N0674 BUNA 70 DURO ID 9 $1.82 



For sales inquiry,
Usman Shiekh
Phone: +1 (281) 982-1187
Email: ushiekh@Daniel.com

Decades Proven. Field Chosen.™

Copyright © 2023 Daniel Measurement and Control. All rights reserved.
PAGE 42 OF 55

UPDATED 2/28/2023

Control Valves
VALVES/PILOTS SPARE PARTS

Part Number Description Qty Unit 
Price

460006-100 COVER 13 $146.17

151645 NUT CASTELLATED,SLOT,HEX CS 43 $0.07

153546 PIN ROLL SS 128 $0.01

1500187 SCREW HEX SOCKET HEAD SET SS 4-40-IN UNC 37 $0.04

150995 SCREW SET SOCKET HEAD CS 10-32 UNF-3A LE 9 $0.10

1-153991 EASY-DRIVE SCREW TYPE U SIZE 0 X .187 RD 406 $0.03

460206-170 COVER ALUM ROUGH 19 $291.85

453152-100 DIAPHRAGM COVER 8 $255.67

460649-122 DIAPHRAGM BUTTON 12 $113.79

453159-100 DIAPHRAGM WASHER ALUM 124 $6.64

478801-070 DIAPHRAGM PLATE ROUGH 3 $120.52

460375 CHECK PLATE ASM 17 $256.82

460359 DIAPHRAGM, VITON 30 $138.55

1-152094-022 O-RING -247 PARKER V747 FKM 75 DURO ID: 332 $7.78

1500480-027 O-RING -338 PARKER V1163 GFLT 75 DURO ID 10 $48.44

157006-029 O-RING -445 PARKER VX065 FKM 75 DURO ID: 1 $192.06

157030 O-RING -381 PARKER N0674 BUNA 70 DURO ID 9 $21.16

152078-116 O-RING -342  PARKER C0873 CR 70 DURO ID: 1 $188.72

157074-029 O-RING -367 PARKER VX065 FKM 75 DURO ID: 1 $188.72

157109-022 O-RING -017 PARKER V747 FKM 75 DURO ID: 330 $0.55

152098-022 O-RING -226 PARKER V747 FKM 75 DURO ID: 48 $3.57

157003-022 O-RING -436 PARKER V747 FKM 75 DURO ID: 18 $27.69

157063-075 O-RING -014 DUPONT 4079 FFKM 75 DURO ID: 48 $31.44

DAN-20061031 O-RING -151 PARKER VX065 FKM 75 DURO ID: 10 $14.67

152085-022 O-RING -330 PARKER V747 FKM 75 DURO ID: 22 $6.30

DAN-20061032 O-RING -338 PARKER VX065 FKM 75 DURO ID: 2 $69.30

DAN-20061030 O-RING -336 PARKER VX065 FKM 75 DURO ID: 2 $65.28

152050-022 O-RING -020 PARKER V747 FKM 75 DURO ID: 213 $0.61

DAN-20060999 O-RING -006 PARKER VX065 FKM 75 DURO ID: 153 $1.05

152090 O-RING -114 PARKER N0674 BUNA 70 DURO ID 439 $0.28

157106 O-RING -251 PARKER N0674 BUNA 70 DURO ID 50 $2.28



For sales inquiry,
Usman Shiekh
Phone: +1 (281) 982-1187
Email: ushiekh@Daniel.com

Decades Proven. Field Chosen.™

Copyright © 2023 Daniel Measurement and Control. All rights reserved.
PAGE 43 OF 55

UPDATED 2/28/2023

Control Valves
VALVES/PILOTS SPARE PARTS

Part Number Description Qty Unit 
Price

157013-120 O-RING -277 PARKER N0497 NBR 70 DURO ID: 3 $34.62

157074-120 O-RING -367 PARKER N0497 NBR 70 DURO ID: 11 $12.08

152066-027 O-RING -010 PARKER V1163 GFLT 75 DURO ID 166 $1.67

157074 O-RING -367 PARKER N0674 BUNA 70 DURO ID 16 $5.79

152091-029 O-RING -216 PARKER VX065 FKM 75 DURO ID: 8 $11.12

157012 O-RING -113 PARKER N0674 BUNA 70 DURO BL 494 $0.17

157010-120 O-RING -213 PARKER N0497 LOW SWELL NITRI 144 $0.70

152064-029 O-RING -008 PARKER VX065 FKM 75 DURO ID: 38 $4.15

157068-075 O-RING -009 DUPONT 4079 FFKM 75 DURO ID: 2 $41.08

152076-029 O-RING -110 PARKER VX065 FKM 75 DURO ID: 38 $3.14

152078 O-RING -342 PARKER N0674 BUNA 70 DURO ID 119 $0.65

DAN-20060892 O-RING -240 PARKER VX065 FKM 75 DURO ID: 2 $38.8

159576-027 O-RING -255 PARKER V747 FKM 75 DURO ID: 4 $19.36

152048 O-RING, ID 5/8" X CS 1/8", -208, PARKER 408 $0.19

157350-022 O-RING -121 PARKER V747 FKM 75 DURO ID: 64 $1.19

152096-120 O-RING -108 PARKER N0497 LOW SWELL NITRI 197 $0.54

152071 O-RING -112 PARKER N0674 BUNA 70 DURO ID 173 $0.42

152078-029 O-RING -342 PARKER VX065 FKM 75 DURO ID: 1 $70.67

152094 O-RING -247 PARKER N0674 BUNA 70 DURO ID 41 $1.71

157207 BACK-UP RING TEFLON 2 TURNS THICK:.025/. 1 $69.52

157024 O-RING -115 PARKER N0674 BUNA 75 DURO ID 595 $0.12

152042-120 O-RING -120 PARKER N0497 NBR 70 DURO ID: 85 $0.78

152064-116 O-RING -008 PARKER C0873 CR 70 DURO ID: 233 $0.28

460643 SPRING SQUARE & GROUNDED 44 $7.04

152070 O-RING -111 PARKER N0674 BUNA 70 DURO BL 1450 $0.04

152080-114 O-RING -345 PARKER NM072 NBR 70 DURO ID: 18 $3.48

152066 O-RING -010 PARKER N0674 BUNA 70 DURO ID 250 $0.28

1-157029-120 O-RING, ID 1-3/4 IN X CS 1/8 IN -224, P 278 $0.81

152064 O-RING -008 PARKER N0674 BUNA 70 DURO ID 110 $0.81

157036-120 O-RING -432 PARKER N0497 NBR 70 DURO ID: 35 $1.74

157007-022 O-RING -228 PARKER V747 FKM 75 DURO ID: 15 $3.98



For sales inquiry,
Usman Shiekh
Phone: +1 (281) 982-1187
Email: ushiekh@Daniel.com

Decades Proven. Field Chosen.™

Copyright © 2023 Daniel Measurement and Control. All rights reserved.
PAGE 44 OF 55

UPDATED 2/28/2023

Control Valves
VALVES/PILOTS SPARE PARTS

Part Number Description Qty Unit 
Price

157002-120 O-RING -433 PARKER N0497 NBR 70 DURO ID: 9 $9.84

152095-116 O-RING -242 PARKER C0873 CR 70 DURO ID: 23 $1.92

DAN-20060793 O-RING -270 PARKER C0873 CR 70 DURO ID: 4 $8.09

540054 BUMPER 4-IN VALVE BUNA-N 1 $32.32

152062-114 O-RING -006 PARKER NM072 NBR 70 DURO ID: 2 $16.12

157005 O-RING -443 PARKER N0674 BUNA 70 DURO ID 5 $6.35

152092-029 O-RING -222 PARKER VX065 FKM 75 DURO BLA 2 $15.54

152073 O-RING -225 PARKER N0674 BUNA 70 DURO BL 73 $0.58

152062-075 O-RING -006 DUPONT 4079 FFKM 75 DURO ID: 20 $26.02

DAN-20060795 O-RING -367 PARKER C0873 CR 70 DURO ID: 2 $12.5

152064-114 O-RING -008 PARKER NM072 NBR 70 DURO ID: 38 $0.65

157098 O-RING -024 PARKER N0674 BUNA 70 DURO ID 91 $0.23

152062 O-RING -006 PARKER N0674 BUNA 70 DURO ID 288 $0.07

152097-120 O-RING -218 PARKER N0497 NBR 70 DURO ID: 11 $77.14

152062-029 O-RING -006 PARKER VX065 FKM 75 DURO ID: 820 $1.02

152076-027 O-RING -110 PARKER V1163 GFLT 75 DURO ID 422 $1.93

157007-114 O-RING -228 PARKER NM072 NBR 70 DURO ID: 536 $1.47

157029-027 O-RING -224 PARKER V1163 GFLT 75 DURO ID 50 $18.77

157061-120 O-RING -227 PARKER N0497 NBR 70 DURO ID: 723 $1.00

152048-120 O-RING -208 PARKER N0497 NBR 70 DURO ID: 691 $0.97

152042-027 O-RING -120 PARKER V1163 GFLT 75 DURO ID 167 $5.88

157015-029 O-RING -449 PARKER VX065 FKM 75 DURO ID: 9 $178.73

152079-027 O-RING -261 PARKER V1163 GFLT 75 DURO ID 15 $64.82

157012-116 O-RING -113 PARKER C-873-70 NEOPRENE 70 1476 $0.35

152100-120 O-RING -339 PARKER N0497 LOW SWELL NITRI 145 $3.48

157096-022 O-RING -341 PARKER V747 FKM 75 DURO ID: 42 $11.78

152068-120 O-RING -210 PARKER N0497 NBR 70 DURO ID: 1251 $0.38

152090-120 O-RING -114 PARKER N0497 LOW SWELL NITRI 69 $9.76

157024-075 O-RING -115 DUPONT 4079 FFKM 75 DURO ID: 14 $48.4

157010 O-RING -213 PARKER N0674 BUNA 70 DURO ID 391 $1.16

1500407-120 O-RING -435 PARKER N0497 NITRI 70 DUR ID 85 $5.02



For sales inquiry,
Usman Shiekh
Phone: +1 (281) 982-1187
Email: ushiekh@Daniel.com

Decades Proven. Field Chosen.™

Copyright © 2023 Daniel Measurement and Control. All rights reserved.
PAGE 45 OF 55

UPDATED 2/28/2023

Control Valves
VALVES/PILOTS SPARE PARTS

Part Number Description Qty Unit 
Price

1500407-027 O-RING -435 PARKER V1163 GFLT 75 DURO ID 3  $136.34 

157010-027 O-RING -213 PARKER V1163 GFLT 75 DURO ID 158  $6.85 

152071-075 O-RING -112 DUPONT 4079 FFKM 75 DURO ID: 14  $42.09 

152096-005 O-RING -108 PARKER E0540 EPR 70 DURO ID: 2  $188.72 

152087-120 O-RING -116 PARKER N0497 NBR 70 DURO ID: 1003  $0.38 

1-1500407 O-RING -435 PARKER N0674 BUNA 70 DURO ID 89  $3.95 

157004-120 O-RING -270 PARKER N0497 NBR 70 DURO ID: 18  $17.76 

152080-029 O-RING -345 PARKER VX065 FKM 75 DURO ID: 4  $76.75 

157026-022 O-RING -249 PARKER V747 FKM 75 DURO ID: 18  $13.13 

152076-075 O-RING -110 DUPONT 4079 FFKM 75 DURO ID: 11  $39.19 

1500480-116 O-RING -338  PARKER C0873 CR 70 DURO ID: 211  $1.10 

157014-027 O-RING -450 PARKER V1163 GFLT 75 DURO ID 1  $203.86 

157340-027 O-RING -377 PARKER V1163 GFLT 75 DURO ID 1  $200.22 

157106-022 O-RING -251 PARKER V747 FKM 75 DURO ID: 18  $3.14 

157061-114 O-RING -227 PARKER NM072-70 NBR 70 DURO 44  $1.28 

157025-022 O-RING -260 PARKER V747 FKM 75 DURO ID: 9  $13.62 

157063-022 O-RING -014 PARKER V747 FKM 75 DURO ID: 206  $0.44 

152062-027 O-RING -006 PARKER V1163 GFLT 75 DURO ID 33  $1.47 

157014-120 O-RING -450 PARKER N0497 NBR 70 DURO ID: 2  $24.09 

157085-114 O-RING -258 PARKER NM072 NBR 70 DURO ID: 8  $5.81 

152097-022 O-RING -218 PARKER V747 FKM 75 DURO BLAC 34  $1.57 

152073-005 O-RING -225 PARKER E0540 EPR 70 DURO ID: 8  $5.23 

157340 O-RING -377 PARKER N0674 BUNA 70 DURO BL 5  $8.06 

152070-120 O-RING -111 PARKER N0497 NBR 70 DURO ID: 28  $1.39 

157003-120 O-RING -436 PARKER N0497 NBR 70 DURO ID: 5  $7.78 

157029 O-RING -224 PARKER N0674 BUNA 75 DURO ID 108  $0.49 

152073-120 O-RING -225 PARKER N0497 LOW SWELL NITRI 44  $0.93 

152076 O-RING -110 PARKER N0674 BUNA 70 DURO ID 40  $0.70 

2-4-9163-361 O-RING, PARKER NO 2-361 MATERIAL V0747-7 4  $6.94 

157015 O-RING -449 PARKER N0674 BUNA 70 DURO ID 17  $1.60 

157010-114 O-RING -213 PARKER NM072 NBR 70 DURO ID: 19  $1.74 



For sales inquiry,
Usman Shiekh
Phone: +1 (281) 982-1187
Email: ushiekh@Daniel.com

Decades Proven. Field Chosen.™

Copyright © 2023 Daniel Measurement and Control. All rights reserved.
PAGE 46 OF 55

UPDATED 2/28/2023

Control Valves
VALVES/PILOTS SPARE PARTS

Part Number Description Qty Unit 
Price

159575-116 O-RING -151 PARKER C0873 CR 70 DURO ID: 14  $0.93 

152042 O-RING -120 PARKER N0674 BUNA 70 DURO ID 15  $0.84 

157011-120 O-RING -230 PARKER N0497 LOW SWELL NITRI 17  $2.21 

157097-022 O-RING -335 PARKER V747 FKM 75 DURO ID: 1  $9.55 

159576 O-RING -255 PARKER N0674 BUNA 70 DURO ID 17  $0.55 

152067 O-RING -011 PARKER N0674 BUNA 70 DURO BL 21  $0.81 

152064-005 O-RING -008 PARKER E0540 EPR 70 DURO ID: 49  $0.17 

157079-022 O-RING -029 PARKER V747 FKM 75 DURO ID: 6  $1.42 

159576-120 O-RING -255 PARKER N0497 NITRI 70 DUR ID 4  $7.93 

152062-005 O-RING -006 PARKER E0540 EPR 70 DURO ID: 54  $0.15 

1500480 O-RING -338 PARKER N0674 BUNA 70 DURO ID 8  $0.97 

152073-116 O-RING -225  PARKER C0873 CR 70 DURO ID: 3  $2.27 

152086 O-RING -012 PARKER N0674 BUNA 70 DURO ID 18  $0.32 

SP17695 O-RING -118 PARKER N0674 BUNA 70 DUR ID: 97  $0.15 

157006 O-RING -445 PARKER N0674 BUNA 70 DURO ID 20  $2.35 

159670 O-RING -150 PARKER N0674 BUNA 70 DURO ID 3  $1.51 

157009 O-RING  -212 PARKER N0674 BUNA 70 DURO I 28  $1.05 

157011-116 O-RING -230 PARKER C-873-70 NEOPRENE 70 4  $4.14 

157085-022 O-RING -258 PARKER V747 FKM 75 DURO ID: 1  $3.92 

152091-120 O-RING -216 PARKER N0497 LOW SWELL NITRI 4  $0.44 

152042-005 O-RING -120 PARKER E0540 EPR 70 DURO ID: 4  $0.23 

FAST DELIVERY
1-2 Weeks

PREFERRED 
PRICING

100% GENUINE
Daniel Products & Parts

CONTACT US
Mondays to Friday, 
8 am - 5 pm CST

$$



For sales inquiry,
Usman Shiekh
Phone: +1 (281) 982-1187
Email: ushiekh@Daniel.com

Decades Proven. Field Chosen.™

Copyright © 2023 Daniel Measurement and Control. All rights reserved.
PAGE 47 OF 55

UPDATED 2/28/2023

Control Valves
DISCONTINUED PRODUCTS

Part Number Description Qty Unit 
Price

157085-114 O-RING -258 PARKER NM072 NBR 70 DURO ID: 8 $5.28 

157085-022 O-RING -258 PARKER V747 FKM 75 DURO ID: 1 $3.56 

157025-120 O-RING -260 PARKER N0497 NBR 70 DURO ID: 186 $4.44 

157025-022 O-RING -260 PARKER V747 FKM 75 DURO ID: 9 $12.38 

152079 O-RING -261 PARKER N0674 BUNA 70 DURO ID 17 $1.06 

152079-027 O-RING -261 PARKER V1163 GFLT 75 DURO ID 15 $58.92 

DAN-20060793 O-RING -270 PARKER C0873 CR 70 DURO ID: 4 $7.35 

157004-120 O-RING -270 PARKER N0497 NBR 70 DURO ID: 18 $16.14 

157013-005 O-RING -277 PARKER E0540 EPR 70 DURO ID: 59 $14.02 

157013-120 O-RING -277 PARKER N0497 NBR 70 DURO ID: 3 $31.47 

152085-022 O-RING -330 PARKER V747 FKM 75 DURO ID: 22 $5.73 

157097-022 O-RING -335 PARKER V747 FKM 75 DURO ID: 1 $8.69 

152075-116 O-RING -336 PARKER C0873 CR 70 DURO ID: 485 $1.69 

152075 O-RING -336 PARKER N0674 BUNA 75 DURO ID 17 $1.08 

DAN-20061030 O-RING -336 PARKER VX065 FKM 75 DURO ID: 2 $59.35 

1500480-116 O-RING -338  PARKER C0873 CR 70 DURO ID: 211 $1.00 

1500480 O-RING -338 PARKER N0674 BUNA 70 DURO ID 8 $0.88 

1500480-027 O-RING -338 PARKER V1163 GFLT 75 DURO ID 10 $44.04 

DAN-20061032 O-RING -338 PARKER VX065 FKM 75 DURO ID: 2 $63.00 

152100-120 O-RING -339 PARKER N0497 LOW SWELL NITRI 145 $3.17 

157096-022 O-RING -341 PARKER V747 FKM 75 DURO ID: 42 $10.71 

152078-116 O-RING -342  PARKER C0873 CR 70 DURO ID: 1 $171.56 

152078-120 O-RING -342 PARKER N0497 LOW SWELL NITRI 374 $2.18 

152078 O-RING -342 PARKER N0674 BUNA 70 DURO ID 119 $0.59 

152078-114 O-RING -342 PARKER NM072 NBR 70 DURO ID: 18 $3.30 

152078-027 O-RING -342 PARKER V1163 GFLT 75 DURO ID 87 $58.19 

152078-029 O-RING -342 PARKER VX065 FKM 75 DURO ID: 1 $64.24 

152080-116 O-RING -345  PARKER C0873 CR 70 DURO ID: 6 $86.00 

152080-114 O-RING -345 PARKER NM072 NBR 70 DURO ID: 18 $3.17 

152080-027 O-RING -345 PARKER V1163 GFLT 75 DURO ID 89 $71.21 

152080-029 O-RING -345 PARKER VX065 FKM 75 DURO ID: 4 $69.78 



For sales inquiry,
Usman Shiekh
Phone: +1 (281) 982-1187
Email: ushiekh@Daniel.com

Decades Proven. Field Chosen.™

Copyright © 2023 Daniel Measurement and Control. All rights reserved.
PAGE 48 OF 55

UPDATED 2/28/2023

Control Valves

Part Number Description Qty Unit Price

157027-022 O-RING -346 PARKER V747 FKM 75 DURO ID: 17 $171.56 

DAN-20060795 O-RING -367 PARKER C0873 CR 70 DURO ID: 2 $11.37 

157074-120 O-RING -367 PARKER N0497 NBR 70 DURO ID: 11 $10.98 

157074 O-RING -367 PARKER N0674 BUNA 70 DURO ID 16 $5.27 

157074-029 O-RING -367 PARKER VX065 FKM 75 DURO ID: 1 $171.56 

157340-005 O-RING -377 PARKER E0540 EPR 70 DURO ID: 110 $7.75 

157340 O-RING -377 PARKER N0674 BUNA 70 DURO BL 5 $7.33 

157340-027 O-RING -377 PARKER V1163 GFLT 75 DURO ID 1 $182.01 

157030 O-RING -381 PARKER N0674 BUNA 70 DURO ID 9 $19.23 

157030-022 O-RING -381 PARKER V747 FKM 70 DURO ID: 52 $49.34 

157030-029 O-RING -381 PARKER VX065 FKM 75 DURO ID: 12 $141.33 

157036-120 O-RING -432 PARKER N0497 NBR 70 DURO ID: 35 $1.58 

157002-120 O-RING -433 PARKER N0497 NBR 70 DURO ID: 9 $8.95 

157002 O-RING -433 PARKER N0674 BUNA 70 DURO ID 20 $2.96 

1500407-120 O-RING -435 PARKER N0497 NITRI 70 DUR ID 85 $4.57 

1-1500407 O-RING -435 PARKER N0674 BUNA 70 DURO ID 89 $3.59 

1500407-027 O-RING -435 PARKER V1163 GFLT 75 DURO ID 3 $123.95 

157003-120 O-RING -436 PARKER N0497 NBR 70 DURO ID: 5 $7.08 

157003-022 O-RING -436 PARKER V747 FKM 75 DURO ID: 18 $25.17 

DAN-20060792 O-RING -443 PARKER C0873 CR 70 DURO ID: 2 $8.10 

157005-120 O-RING -443 PARKER N0497 NITRI 70 DUR ID 12 $1.08 

157005 O-RING -443 PARKER N0674 BUNA 70 DURO ID 5 $5.77 

DAN-20060791 O-RING -445 PARKER C0873 CR 70 DURO ID: 2 $8.21 

157006-120 O-RING -445 PARKER N0497 NBR 70 DURO ID: 68 $7.68 

157006 O-RING -445 PARKER N0674 BUNA 70 DURO ID 20 $2.14 

157006-029 O-RING -445 PARKER VX065 FKM 75 DURO ID: 1 $174.60 

157015-005 O-RING -449 PARKER E0540 EPR 70 DURO ID: 104 $8.24 

157015 O-RING -449 PARKER N0674 BUNA 70 DURO ID 17 $1.45 

157015-029 O-RING -449 PARKER VX065 FKM 75 DURO ID: 9 $162.48 

157014-005 O-RING -450 PARK ERE0540 EPR 70 DURO ID: 60 $14.15 

157014-120 O-RING -450 PARKER N0497 NBR 70 DURO ID: 2 $21.90 

VALVES/PILOTS SPARE PARTS



For sales inquiry,
Usman Shiekh
Phone: +1 (281) 982-1187
Email: ushiekh@Daniel.com

Decades Proven. Field Chosen.™

Copyright © 2023 Daniel Measurement and Control. All rights reserved.
PAGE 49 OF 55

UPDATED 2/28/2023

Control Valves

Part Number Description Qty Unit 
Price

157014 O-RING -450 PARKER N0674 BUNA 70 DURO ID 1 $16.98 

157014-027 O-RING -450 PARKER V1163 GFLT 75 DURO ID 1 $185.33 

157014-029 O-RING -450 PARKER VX065 FKM 75 DURO ID: 9 $171.73 

157018 O-RING -453 PARKER N0674 BUNA 70 DURO ID 1 $15.31 

157018-022 O-RING -453 PARKER V747 FKM 75 DURO ID: 65 $49.63 

157017 O-RING -454 PARKER N0674 BUNA 70 DURO ID 2 $2.98 

157019 O-RING -456 PARKER N0674 BUNA 70 DURO ID 1 $15.63 

157019-022 O-RING -456 PARKER V747 FKM 75 DURO ID: 121 $60.97 

157095-029 O-RING -461 PARKER VX065 FKM 75 DURO ID: 29 $327.29 

157086-029 O-RING -462 PARKER VX065 FKM 75 DURO ID: 12 $312.29 

157034-027 O-RING-021 PARKER V1163 GFLT 75 DURO ID: 409 $1.98 

1-157029-120 O-RING, ID 1-3/4 IN X CS 1/8 IN -224, P 278 $0.74 

152048 O-RING, ID 5/8" X CS 1/8", -208, PARKER 408 $0.17 

2-4-9163-361 O-RING, PARKER NO 2-361 MATERIAL V0747-7 4 $6.31 

463006-600 PILOT COVER 1 $90.59 

481999 PILOT MOUNTING BRACKET 1 $34.66 

153571 PIN ROLL 4 $0.05 

153546 PIN ROLL SS 128 $0.01 

153527 PIN ROLL SS 1/8-IN DIA X 1-1/8-IN 5 $0.08 

153569 PIN SLOTTED SPRING, 1/16-IN X 3/4-IN, SA 4337 $0.17 

530057-999 PISTON 9 $81.55 

540057-110 PISTON ASSY 4 IN 8 $69.05 

540023 PISTON CAP 1 $18.15 

530236 PISTON POPPET SHAFT 1 $18.83 

460016 PISTON ST STL 15 $24.02 

460216 PISTON ST STL 6 $26.71 

154686 PLUG CAP NO. 2-X 93 $0.12 

154718-074M PLUG CS A-105 1-IN NPT CLASS 3000 (SCH 1 28 $65.93 

466212 PLUNGER 9 $4.57 

180444-005 POPPET 4 $10.12 

456203 POPPET SHAFT 9 $481.80 

VALVES/PILOTS SPARE PARTS



For sales inquiry,
Usman Shiekh
Phone: +1 (281) 982-1187
Email: ushiekh@Daniel.com

Decades Proven. Field Chosen.™

Copyright © 2023 Daniel Measurement and Control. All rights reserved.
PAGE 50 OF 55

UPDATED 2/28/2023

Control Valves

Part Number Description Qty Unit 
Price

460110-00G POPPET SHAFT ASSY GFLT 3 $101.78 

456952 POPPETSHAFT ASSEMBLY 7 $252.81 

460110-005 POPPETSHAFT ASSY KALREZ 1 $84.59 

456204 RETAINER SLEEVE 1 $7.57 

1-153946 RETAINING RING EXTERNAL 250 $0.03 

156472 RETAINING RING EXTERNAL     SS FREE DIA: 5 $1.77 

153953-019 RETAINING RING EXTERNAL SS 5 $0.51 

153952 RETAINING RING INTERNAL 907 $2.60 

156470 RETAINING RING INTERNAL SS 8 $860.69 

150462 SCREW FILLISTER HEAD BRASS 10-32 UNF-2A 2 $0.15 

150511 SCREW FILLISTER HEAD CS 6-32 UNC-2A LENG 615 $0.05 

150767M SCREW HEX HEAD CAP CS 3/8-IN-16 LENGTH:1 15 $0.17 

1500187 SCREW HEX SOCKET HEAD SET SS 4-40-IN UNC 37 $0.04 

150995 SCREW SET SOCKET HEAD CS 10-32 UNF-3A LE 9 $0.09 

456205 SHAFT ASSY-POPPET 1 $517.50 

153511 SLOTTED PIN 3/32-IN DIA X 5/8-IN LONG 31 10 $0.07 

456954 SPRING 44 $10.86 

478946 SPRING 864 $0.44 

478954 SPRING 1 $0.32 

456993 SPRING BACK-UP DISCHOLDER 640 $0.50 

460374 SPRING CHECK VALVE COMPRESION CLOSED END 6 $14.52 

153941 SPRING CLIP SS ZNC PLTG 273 $0.12 

460657 SPRING COMPRESION SQUERED T-302 ST STL 99 $5.54 

600031 SPRING NPS 10 VALVE LIGHT 4/6 PSI COMPRE 17 $270.60 

580059 SPRING NPS 8 VALVE HEAVY 10/30 PSI COMPR 2 $413.16 

460371 SPRING PILOT BIAS COMPRESION SQUARE & GR 3 $31.02 

457021 SPRING POPPET SQUARE & GROUNDED T-302 ST 43 $13.07 

453172-070 SPRING PRESSURE ROUGH 31 $5.07 

460373 SPRING SEAT ASSY COMPRESION SQUARE & GRO 14 $6.47 

460643 SPRING SQUARE & GROUNDED 44 $6.40 

460372 SPRING SURGE POPPET SQUARE & GROUNDED T- 2 $22.44 

VALVES/PILOTS SPARE PARTS



For sales inquiry,
Usman Shiekh
Phone: +1 (281) 982-1187
Email: ushiekh@Daniel.com

Decades Proven. Field Chosen.™

Copyright © 2023 Daniel Measurement and Control. All rights reserved.
PAGE 51 OF 55

UPDATED 2/28/2023

Control Valves

Part Number Description Qty Unit 
Price

1500292-419 STAINLESS STEEL TUBE FITTING, UNION TEE, 17 $62.83 

460354 STEM 1 $262.36 

530245 STRAINER ASSEMBLY 46 $25.36 

157797 U-BOLT DIA: 1/4-20 W: 3-1/4 L:4-IN MAT'L 139 $21.50 

156611 VALVE FLOW CONTROL CS 3/8-IN NPT FKM SEA 9 $85.80 

156611-419 VALVE FLOW CONTROL SS 3/8-IN NPT FKM SEA 12 $257.40 

720019 VALVE NAME PLATE 197 $2.55 

459857 VALVE SEAT INSERT 7 $55.51 

541210-621 VALVE STEM 531I W/ 533 PISTON 2 $570.24 

159772 VALVE, CHECK 3/8-IN CS 6 $105.60 

157486-019 VALVE,CHECK,1/2 NPT CS 48 $118.80 

157486-419 VALVE,CHECK,1/2 NPT ST STL 76 $297.00 

460680-50G VALVE,NEEDLE,STR ASSY,CS, GFLT 1 $233.33 

531210-921 VLV STEM 531W/533 PISTON 5 $1,306.80 

152105-019 WASHER CS LOCK SIZE: NO. 10X5/16X3/64 IC 77 $0.01 

VALVES/PILOTS SPARE PARTS



For sales inquiry,
Usman Shiekh
Phone: +1 (281) 982-1187
Email: ushiekh@Daniel.com

Decades Proven. Field Chosen.™

Copyright © 2023 Daniel Measurement and Control. All rights reserved.
PAGE 52 OF 55

UPDATED 2/28/2023

Control Valves

Part Number Description Qty Unit 
Price

157034-116 O-RING -021 PARKER C0873 CR 70 DURO ID: 16 $14.92 

1-8-10028360-01 O-RING -345 PARKER V747 FKM 75 DURO ID: 67 $12.33 

152080-005 O-RING -345 PARKER E0540 EPR 80 DURO ID: 82 $2.18 

152094-005 O-RING -247 PARKER E0540 EPR 80 DURO ID: 73 $2.18 

152069-022 O-RING -214 PARKER V747 FKM 75 DURO ID: 101 $1.24 

152095-005 O-RING -242 PARKER E0540 EPR 70 DURO ID: 125 $0.87 

159575-005 O-RING -151 PARKER E0540 EPR 70 DURO ID: 19 $5.28 

157061-116 O-RING -227  PARKER C0873 CR 70 DURO ID: 87 $0.95 

152071-005 O-RING -112 PARKER E0540 EPR 70 DURO ID: 7 $11.44 

157019-120 O-RING -456 PARKER N0497 NBR 70 DURO ID: 4 $19.60 

157029-116 O-RING -224 PARKER C0873 CR 70 DURO ID: 492 $0.12 

157034-005 O-RING -021 PARKER E0540 EPR 70 DURO ID: 69 $0.84 

152057-022 O-RING -265 PARKER V747 FKM 75 DURO ID: 3 $18.33 

152071-116 O-RING -112  PARKER C0873 CR 70 DURO ID: 6228 $0.17 

152048-029 O-RING -208 PARKER VX065 FKM 75 DURO ID: 2 $26.48 

152076-116 O-RING -110  PARKER C0873 CR 70 DURO ID: 1451 $3.02 

157002-075 O-RING -433 DUPONT 4079 FFKM 75 DURO ID: 3 $1,272.84 

157015-116 O-RING -449 PARKER C0873 CR 70 DURO ID: 91 $9.36 

157340-116 O-RING -377 PARKER C0873 CR 70 DURO ID: 105 $8.10 

157383-005 O-RING -270 PARKER E0540 EPR 70 DURO ID: 135 $6.30 

157014-116 O-RING -450 PARKER C0873 CR 70 DURO ID: 50 $16.98 

157013-116 O-RING -277 PARKER C0873 CR 70 DURO ID: 57 $14.23 

157030-120 O-RING -381 PARKER N0497 LOW SWELL NITRI 1 $27.94 

157032-005 O-RING -240 PARKER E0540 EPR 70 DURO ID: 1 $17.15 

157024-116 O-RING -115 PARKER C0873 CR 70 DURO ID: 4191 $0.26 

152092-116 O-RING -222  PARKER C0873 CR 70 DURO ID: 1408 $0.63 

1-8-10028360-04 O-RING -342 PARKER V747 FKM 75 DURO ID: 73 $11.27 

152073-114 O-RING -225 PARKER NM072 NBR 70 DURO ID: 15 $51.66 

152062-116 O-RING -006 PARKER C0873 CR 70 DURO ID: 5 $82.04 

157076-022 O-RING -025 PARKER V747 FKM 75 DURO ID: 379 $1.06 

157098-022 O-RING -024 PARKER V747 FKM 75 DURO ID: 210 $0.87 

DISCONTINUED PRODUCTS



For sales inquiry,
Usman Shiekh
Phone: +1 (281) 982-1187
Email: ushiekh@Daniel.com

Decades Proven. Field Chosen.™

Copyright © 2023 Daniel Measurement and Control. All rights reserved.
PAGE 53 OF 55

UPDATED 2/28/2023

Control Valves

Part Number Description Qty Unit 
Price

157024-005 O-RING -115 PARKER E0540 EPR 70 DURO ID: 6 $8.58 

152077-022 O-RING -239 PARKER V747 FKM 75 DURO BLAC 8 $5.25 

157017-120 O-RING -454 PARKER N0497 NBR 70 DURO ID: 1 $31.44 

152100 O-RING -339 PARKER N0674 BUNA 70 DURO ID 26 $1.16 

152099-022 O-RING -220 PARKER V747 FKM 75 DURO BLAC 63 $0.48 

152078-005 O-RING -342 PARKER E0540 EPR 70 DURO ID: 6 $3.45 

157387-005 O-RING -347 PARKER E0540 EPR 70 DURO ID: 1 $10.56 

157000-005 O-RING -232 PARKER E0540 EPR 70 DURO ID: 15 $0.50 

152098-120 O-RING -226 PARKER N0497 NBR 70 DURO ID: 5 $0.84 

1500480-005 O-RING -338 PARKER E0540 EPR 70 DURO ID: 4 $0.86 

152075-005 O-RING -336 PARKER E0540 EPR 70 DURO ID: 4 $0.75 

1500399-005 O-RING -329 PARKER E0540 EPR 70 DURO ID: 15 $0.07 

152048-116 O-RING -208 PARKER C0873 CR 70 DURO ID: 20 $0.34 

157029-005 O-RING -224 PARKER E0540 EPR 70 DURO ID: 1 $0.53 

152076-005 O-RING -110 PARKER E0540 EPR 70 DURO ID: 29 $1.82 

1-504-28-033 PLUNGER SEAL (BAL-SEAL)415HB-2 48-G F/3& 4 $65.05 

157163 GLYD RING OUTSIDE ID: 1-5/16 OD: 1-3/8 W 6 $258.75 

460680-509 NV/STR COMB VIT LPG SERVICE 7 $221.55 

157165 GLYD RING / TEF 6 $236.94 

153974 SCREW EASY-DRIVE NAIL 2 TYPE SS LENGTH:1 174 $0.01 

151059-019 SCREW HEX SOCKET HEAD SS 6-32 UNC-3A LEN 12 $0.11 

150745 SCREW HEX HEAD CAP CS 5/16-IN-18 UNC-2A 23 $0.05 

457604-100 DIAPHGAGM BUTTON 15 $24.03 

456903-003 CAGE ASSY NEOPRENE ELASTOMERS 10 $398.44 

500401-070 4'5-INHOUSING 2-3-IN VALVE ROUGH 61 $24.88 

720001-090 2-IN VALVE BODY - MACHINED CASTING - CAS 2 $348.59 

1505147 4-IN SERIES 500 METER - VALVE 5 $120.85 

1-3-9008-556 DANIEL MODEL 788DVC DIGITAL CONTROL VALV 40 $7.18 

453552-500 DIAPHRAGM COVER 2 $69.37 

1-504-28-870 VALVE DISC: 4 MOD 1550 VIRGIN TEF 001-22 4 $13.09 

460386-551M NEEDLE VALVE BODY CS 4 $19.18 

DISCONTINUED PRODUCTS



For sales inquiry,
Usman Shiekh
Phone: +1 (281) 982-1187
Email: ushiekh@Daniel.com

Decades Proven. Field Chosen.™

Copyright © 2023 Daniel Measurement and Control. All rights reserved.
PAGE 54 OF 55

UPDATED 2/28/2023

Control Valves

Part Number Description Qty Unit 
Price

500632 SPRING NPS 4 & 6 MOTOR 7.5/12.35 PSI COM 52 $44.88 

478908 SPRING GUIDE 4 $272.25 

DAN-20058236 536001M 3 INCH 600 LB VALVE BODY MTR MAC 1 $819.17 

456953 SPRING 43 $10.86 

460386-700M NEEDLE VALVE BODY W/MTR 316 SS 2 $115.13 

156537 RETAINING RING INTERNAL 184 $0.69 

156535 RETAINING RING INTERNAL, FREE DIA:1.890, 38 $1.37 

156532 RETAINING RING INTERNAL FREE OUTSIDE DIA 1 $3.63 

456903-008 CAGE ASSY LS NITRILE ELASTOMERS 12 $446.86 

501031 INDICATOR SHAFT 8 $56.76 

501214 INDICATOR SHAFT 4 $94.46 

153943 SPRING CLIP SS FINISH:PLAIN OVERALL LEN 105 $0.11 

1-557-33-033 SCREW SLOTTED PAN HEAD SS 4-40 UNC-2A LE 4 $0.03 

1505168 COUPLING LOCKING SCREW CS M3 X .5-5G6GLE 1 $0.07 

DAN-20067381 2 INCH SPRING COVER CV 707 150-600 ANSI 49 $270.60 

157194 BACK-UP RING TEFLON 2-IN VALVE THICK:.04 47 $274.07 

666124-600 PISTON CV 16 IN 600 316/316L NACE 1 $11,230.52 

600024-701 PISTON 10-IN VALVE 316 SS 2 $3,226.16 

1-7-10054964-07 CYL HEAD BLANK NPS 10 CLASS 150-300 PED 2 $3,099.44 

760001-090 6-IN INLINE VALVE BODY - MACHINED CASTIN 4 $664.51 

456901-008 POPPET ASSEMBLY LS NITRILE 13 $199.91 

157028 O-RING -266 PARKER N0674 BUNA 70 DURO BL 5 $118.48 

157162 GLYD RING INSIDE T W:.084/.086 ID:.309 O 3 $171.60 

DAN-20067406 2-IN 600 CV707 BACK PRESSURE VALVE, CYLI 9 $211.19 

152048-027 O-RING -208 PARKER V1163 GFLT 75 DURO ID 364 $4.57 

157027 O-RING -346 PARKER V1163 GFLT 70 DURO ID 21 $78.25 

456952-003 POPPET SHAFT ASSY NEOP O-RING 5 $243.93 

DAN-20068579 2-IN 150/300 CYL HEAD CV-707 9 $134.15 

152042-075 O-RING -120 DUPONT 4079 FFKM 75 DURO ID: 14 $82.30 

DAN-20077291 CYL HEAD BLANK NITROGEN CV 8IN 600 A516 1 $1,115.14 

1-7-10042231-03 6-IN HI PRESS CYLINDER 17-4PH 1 $2,159.69 

DISCONTINUED PRODUCTS



For sales inquiry,
Usman Shiekh
Phone: +1 (281) 982-1187
Email: ushiekh@Daniel.com

Decades Proven. Field Chosen.™

Copyright © 2023 Daniel Measurement and Control. All rights reserved.
PAGE 55 OF 55

UPDATED 2/28/2023

Control Valves
DISCONTINUED PRODUCTS

Part Number Description Qty Unit 
Price

580021-550 8-IN CYL FABR. STEEL 1 $1,902.13 

DAN-20063544 2-IN SPRING GUIDE PRESSURE CLASS 600 CV7 7 $211.20 

580056-510ML CYL HEAD 8-IN150-LB AP LOW TEMP 3 $471.14 

720057-110 PISTON 5 $150.42 

720057-100 PISTON 3 $103.44 

1-3-9008-553 MAN,MODEL 700B SERIES CONTROL VLVS2D/500 23 $7.33 

FAST DELIVERY
1-2 Weeks

PREFERRED 
PRICING

100% GENUINE
Daniel Products & Parts

CONTACT US
Mondays to Friday, 
8 am - 5 pm CST

$$


